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Q.No: 1

2413591 Approximately, what fraction of total workforce of India is engaged in agricultural and allied sector activities?

URA & $0 BRIT BT U a1 T Sy ok 399 Taifda & it nfafafie & srika 82

42%
A

42%

55%
B

55%

65%
C

65%

75%
D

75%

Correct Ans : B

Q.No: 2
2413592 Approximately, what fraction of India's Gross Value Added (GVA) for the year 2019-20 is contributed by Agriculture and Allied Activities?

Y 2019-20 ¥ YRA F AR THA Ted (SHATT) & T b =1 BT ANTeH Y SR ST st nfafafdat gry feam mar g2

18%

18%

24%

24%

16%

16%

21%


https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/View_Challenge_Items.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/View_Challenge_Items.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/View_Challenge_Items.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/View_Challenge_Items.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/OBJReport_New.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/OBJReport_New.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/OBJReport_New.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/OBJReport_New.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/ViewCandResponse.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/ViewCandResponse.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/ViewCandResponse.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/ViewCandResponse.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/ViewCandQNO.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/ViewCandQNO.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/ViewCandQNO.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/ViewCandQNO.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/logout.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/logout.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/logout.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/Final_Model_Answer.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/Final_Model_Answer.aspx

21%

Correct Ans : A

Q.No: 3
2413593 Approximately, what is the total food grain production in India currently?

I ¥ YR BT $f WETH SATeT T e 82

296 million tonnes

A

296 fufera= &

332 million tonnes
B

332 faftra e

220 million tonnes
C

220 fufer= &

220 million tonnes
D

220 fafemE e

Correct Ans : A

Q.No: 4
2413594 What is the rank of India in fruit production?

Bd IdIe § YRd 59 ®F | 37

Second

First

Third

L

Fourth

T

Correct Ans : A

Q.No: 5
2413596 Agriculture, Irrigation and Power Projects were given highest priority in which among the following plans?



79 @ by e § i, Riw @ik gy uRadiemren o) Tafe wrufear € w2

First Five Year Plan

A
T Teadfg gieT
Second Five Year Plan
B
e deadfa diern
Third Five Year Plan
Cc
T daadfa gien
Fourth Five Year Plan
D

R vt g

Correct Ans : A

Q.No: 6
2413597 Which among the following is the largest source of irrigation in India, apart from rains?

TuT P AT 370 § B 1 HRA H RS o7 Jo o971 9id 82

Tube- wells

A

EGER

Canals
B

TR

Rivers
C

afeat

Tanks
D

GIGICE

Correct Ans : A

Q.No: 7
2413599 Which among the following is most important for agricultural productivity?

PN IaIeehal & 1T 378 ¥ o1 god 31 Agwayuf 87



Irrigation

A

Riars

Rainfall
B

auf

Seeds
C

Eic

Fertilizer
D

IR®

Correct Ans : C

Q.No: 8
2413602 Which among the following fertilizers is least likely to affect the Soil pH?

it & @ g SR & gl & dieg &1 uuiad B Bt $F JHIGT Iedt 82

Urea
A

Rock Phosphate
B

P Biebe

Ammonia
Cc

sifeT

Muriate of potash
D

e SffE dlerr

Correct Ans : D

Q.No: 9
2413609 In which year, the Antyodaya Anna Yojana was launched to provide highly subsidized food to millions of the poorest families

gt TR IRaRT &Y i Rarad arer HiH Sudsy dRM & [T sidiied o e i af g @t 1 off

1998

1998



2000

B
2000
2004
C
2004
2006
D
2006

Correct Ans : B

Q.No: 10
2413610 What is the amount of food grains given to each poor family per month under the targeted public distribution system?

Wl ardefe faaRu yurel & sidtid Ude e RaR &) ufmre fhdn @ faar S 27

40 kg
A

40 fear

35 kg
B

35 forar

20 kg
C

20 fear

30 kg
D

30 forar

Correct Ans : B

Q.No: 11
2415300 In geology loss of soluble substances, minerals and organic colloids from the top layer of soil by percolating precipitation is called

R & R Sradior R gal #t Sl W A gerrier verdl @it aur orde Hiargs) $1 g seard 8

Deposition
A
fHyéraor
Porosity
B

[Sr



Leaching

C
diferT
Adsorbtion
D
Siferzmeor

Correct Ans : C

Q.No: 12
2415301 The T value (soil loss tolerance) refers to for a specific soil.
TIG (G g ge=fieran) _ ol Tefifd srar 31
soil loss by wind erosion is tolerable
A
B4T & 3ReH | Yo g1+ e+ @
the annual soil loss by water and wind erosion that a particular soil can tolerate without degrading its long-term
productivity
B
R O T F e F aiffe et 1 7 I T R Har et e Saremar 3 o Py fae we R godt @
soil loss by water can be tolerated by water quality standards
c
It @ gar FY B B ST Ui AFS) gRT T fbar o Tar 8
the tension between soil particles are held and resist erosive forces
D

el & BN & §1F a1 g1 35T § 3R &RUIGRY gal BT 3y Har1 8

Correct Ans : B

Q.No: 13
2415302 Displacement of upper layer of soil from one place to another and is a form of soil degradation is called

ST geT 1 U WH F gW W W R 3R e FEfieru 1 ue U e 8

Soil fertility
A

TeT B JdRar

Soil porosity
B

T |

Soil erosion
C

TaT ARG



Soil pollution

HaT uguur

Correct Ans : C

Q.No: 14
2415303 Soil layer that is rich in iron oxide and derived from rocks weathering under oxidizing and leaching conditions-

B O gaT sifrfieor SR difh uRfRfRRY & smem Tgmi ¥ e g § 9iR dig siiaumss & w5 gl 8-

Regur soil
A

TR 7@

Alluvial soil
B

Sl qeT

Clay soil
C

forgt gar

Lateritic
D

AeRfes

Correct Ans : D

Q.No: 15
2415304 Monocropping depletes quality of soil whereas Rotation of crop is essential for

HFIHITHT & 7T ST Jorad § HH 3T § Fafh BUd &1 AT TS §-

Improve fertility of soil and reduces erosion

A
T # Idar § GUR SR Hera $Y $7 FaT 3
Increasing quality of grains but decreases yield
B
3T B UG Tgdl § AP SUS U STt @
Different kinds of crops can be grown in same field
C
T 8 |a A fafis yoR # vad IWS o At §
To plough various types of crops
D

fafirg R & waal F Jars F & g

Correct Ans : A



Q.No: 16
2415305 The reddish colour of Red soils develops due to

A HeT &1 a1 & R [FeBiyd g1 §

Sewage disposal

A
Hawr Faer
Leaching process
B
Frgme uferan
Monsoon activity
C
g fafafe
Wide diffusion of iron in crystalline and metamorphic rocks
D

fpeeeiy ok Priaid ugHl # Wi BT IS TR

Correct Ans : D

Q.No: 17
2415306 Which factor is related to physical and chemical conditions of soil-

B T BRS HaT Bl ifees 3R e fRufedl § gsfie 3-

T factors
A
& oR®
Geological factors
B
AT SRS
Biotic factors
C
Sf® PRE
Edaphic factors
D

TSfPe PRP

Correct Ans : D

Q.No: 18
2415308 The important feature of shifting cultivation is

TR HRY B Tayul v € w1 2-



Cultivation by transplantation

A
TARIYUT GRT Wl
Cultivation of Leguminous crops
B
Tag-t Baal Pt Jdt
Change of cultivation site
C
et e 1 gRadq
Rotating of crops
D

! BT A

Correct Ans : C

Q.No: 19
2415310 What is used to Reclamation of wastelands into agricultural lands?

FoR YT B B Y  sear & e e Iu S e &-

Check dams
A
AP qiY
Water purifier
B
Y [ HRA qTel T
Rain harvesters
Cc
auf grdwer
Gradonies
D
PIEic]

Correct Ans : D

Q.No: 20
2415314 Organic agriculture is an agricultural approach that advocates healthy products and avoid use of

Sfye Tft T N BB B O WS IUTE! BT IHTAT FAT § AR F IUTNT § AT ¥

Bio fertilizer

AR @



Biological control agents for disease

B

A F forg e P Toe

Modern technologies in harvesting and collection
C

BOd Berg 3R WU § snyfe wenfie frar

Chemical fertilizers and chemical pesticides
D

IS &R 3N IMAS Hleaws

Correct Ans : D

Q.No: 21
2415501 Recovery phase or transplanting shock of transplanted rice is around

TRRIN o &) Revadt a1 TrAiifenT i B fpe 1 4 gar &

2 - 4 days
A

2-4fF

4 - 10 days
B

4-10f=

10 - 15 days
C

10 - 15 fe

15 - 20 days
D

15-20fF

Correct Ans : B

Q.No: 22
2415502 Days required for rice seedlings to transplant under dapog nursery is

SO0 T &y F gl & uRRIuw & T sreee R 8

10
A

10

14
B

14



21

C
21
28
D
28

Correct Ans : B

Q.No: 23
2415503 Number of leaves considered as optimum for transplanting rice seedlings is

R0 #7 & AT o= & Wl F ufrdt @1 e SRem Iugad A ot 71

1-2
A

1-2

2-3
B

2-3

3-4
C

3-4

4-5
D

4-5

Correct Ans : D

Q.No: 24

2415504 Successful traditional Basmati Rice cultivation lies on exposing of stage to cool temperature
Y & YBhd URURS Wl § AR $S ATHF H XA W IR Biell 8
Seedling

A
3P
Tillering

B
feafer
Grain filling

C

PEALIGR



Panicle Initiation

e sfA=eEE

Correct Ans : C

Q.No: 25
2415505 Growth regulator used in hybrid rice seed production programme is

U F TR A & G T TIad MY WA BIl &

NAA
A

NAA
B

CCcC
C

CCC

ABA
D

ABA

Correct Ans : B

Q.No: 26
2415506 Optimum days old seedlings required for transplanting for early and medium duration rice seedlings is

AR ofR T @l & U Bt AuIS & T Iuged snawaeds Wy foram T &1 gt 3

25 -30
A

25 -30

30-40
B

30-40

40 - 50
C

40 - 50

10-20
D

10-20

Correct Ans : A



Q.No: 27
2415507 Khaira Disease of rice is due to the deficiency of

o H @1 A et B b BRU Bl 82

N (FTSEIe)

Zn

Zn ()

Fe

Fe (SgT)

B (FR1)

Correct Ans : B

Q.No: 28
2415515 Percentage area share of Triticum aestivum in wheat cultivation in India is

HRA & g 31 o § LRFw twdian & 6w &1 & i # e §

12
A

12

60
B

60

69
C

69

87
D

87

Correct Ans : D

Q.No: 29
2415523 Average maize yield in India is

YR 7 Hop1 B 3d U §



1t/ha

A
1 T/TRW
2.5t/ha

B
2.5 T/TRW
1.8 t/ha

c
1.8 TA/FRW
4 t/ha

D
4 T/TRW

Correct Ans : C

Q.No: 30
2415531 Best suited temperature for bajra cultivation is

TOR B Vel P 7T T8 UGS q9qH §

Correct Ans : B

Q.No: 31
2417172 The combination of crop production and milk production activities is an example of:

T IS 3R g I AR BT TIoH TP ITeR 3:

Competitive

wferaf



Complementary

B

S

Supplementary
C

SR

Competitive and Supplementary
D

wforeue ok sR®

Correct Ans : B

Q.No: 32
2417173 Maximum profit is obtained at the point, where:

firpan o 39 fig IR U B 8, w8

MP = AP
A

MP = AP

MP < AP
B

MP < AP

MP > AP
C

MP > AP

MP increasing and AP decreasing
D

Hid SATG(MP) &Y TR 3R 3 IS (AP) Pl HSTHT

Correct Ans : D

Q.No: 33
2417177 Which of the following is a management decision ?

frofoiia & @ $ te e fofg 82

Level of resource use

TYATYT ITURT BT TR

Selection of least cost

U q $H AR BT 99T



Enterprise mix

I fargor

Total Farming

T St

Correct Ans : C

Q.No: 34

2417179 Short term loans to farmers are mainly given for the purchase of:

fPar ®Y BT BU g T4 § Fafiad @t wie & forg fear s #:

Pump set

U ¥

Seed

EIE]

Heavy machinery

W wfis

Bullock

Tyf

Correct Ans : B

Q.No: 35

2417202 An application of the accounting principles to the business of farming is:

T & au & s RiGidl BT Sy &

Farm Planning

BT @R

Farm Accounting

B SreprafeT

Farm Budgeting

BT FeIfeT



Marketing

ATHTET

Correct Ans : A

Q.No: 36
2417218 Which one of the followings sets of soil conditions is more suitable for plant growth?

fraffad 3 3 fit @1 o a1 gag diel @1 9 & R aifte Suged 82

Sandy soil with high aeration and low water holding

A
I q1a 3R HH oq UTiRd B qrelt Yt gt
Clay soils with higher water holding capacity and low aeration
B
I W YR &l 3R HH ara- areit g
organic soils with high water holding capacity
C
I Wl YTRUT & 9Tl Sifde g
Loamy soils with medium aeration and medium water holding capacity
D

AW aTa 3R WEOH Sl UIROT &1 aTelt gre frgt

Correct Ans : D

Q.No: 37
2417219 ‘Crop logging’ is a method of:

iy AT feae! T fafd

Assessing crop damage

A
wad B &fd BT B
Soil fertility evaluation
B
e IARAT T Geais=T
Plant analysis for assessing requirement of nutrient for crop production
(o}
THA IATe & 1T Wud el B ATa=gdHal HT ATHa-T HIA F g dref &1 fazawor
Testing suitability of fertilizers
D

ISP BT UGl BT UE0T

Correct Ans : C



Q.No: 38
2417220 “Hidden hunger” means:

e R 31 o §:

Deficiency symptoms are seen when the nutrient is deficient

A
Ty® ded Pt PH 1 W IT HHI S T&01 e aa 2
Sever yield reduction may occur without appearance of deficiency symptoms
B
FU & deoi 1 Iuff F AT Iut A H1wt Heft 8 Wbt 71
The nutrient is not deficient but apparently seems to be deficient.
C
iye acd @t HUT T @ AP Wy IR W S wdia gt 21
Visual deficiency symptoms are suppressed by other elements
D

TXG B B WU B 3T dedl GRT gaT AT SITar 1

Correct Ans : B

Q.No: 39
2417222 Addition of the following material makes it possible to take good crop in sodic soil:

frofoia areh & fram @ gifse gt & of ot ST v g §:

FYM
A

FYM

Green manure
B

keI

Gypsum
C

forea

Sulphur
D

e

Correct Ans : C

Q.No: 40
2417224 All India Soil Survey and Land Use Organization was established in:

YT YR e Gderor SR Yy ITNT WIS P R Ha BT TS e



1952

A

1952

1956
B

1956

1962
C

1962

1960
D

1960

Correct Ans : B

Q.No: 41
2417225 A combination of many taxonomic unit like soil series phase or type is called:

T[T AT TR0T A1 ThR S 3 RS IPIZTT B JTISH BT ... e ST B

Soil variant

A
Hal PR
Soil series
B
e aen
Soil complex
Cc
a1 IRER
Soil association
D

KL

Correct Ans : D

Q.No: 42

2417229 A soil absorbs about of incoming solar radiation.
forg} T 3 T IR fAfpR0T B Sra=ftg Bt 7
5%

A

5%



10%

B
10%
15%
C
15%
20%
D
20%

Correct Ans : B

Q.No: 43
2417230 Black and dark coloured soil absorb heat from sunlight then light-coloured soil.
el 3R TR 301 B1 gt TRl B! A | geopt 1 B ) Y erden Tff sraiftyd Bl 1
Less
A
DH
More
B
i
Negligible
C
Ty
Very high
D
qgd Sfi¥re

Correct Ans : B

Q.No: 44
2417233 Carbon requirement of plant is met by absorbing:

Carbon from soil minerals

gt & @fel @ oda

Carbon from soil organic matter

gt & Sfae woral & A



Carbon monoxide from atmosphere

AU A I AISTRIZTS

Carbon dioxide from atmosphere

IS § HIEF STF3TFZS

Correct Ans : D

Q.No: 45
2417234 Cation exchange capacity is found minimum in the case of:

forar fRufy & wiea g emdr o urg od 82

Montmorillonite

A
HiemieTge
Illite

B
ENIESS
Kaolinite

c
CaEIREIEH
Humus

D
egad

Correct Ans : C

Q.No: 46
2417375 Which fruit contain maximum calories?

g wa o sifimdy FHeRt gt 82
Date palm
A
TR
Karonda
B
Eai)
Custard apple
Cc

TRE1/Harea



Aonla

3fiqr

Correct Ans : A

Q.No: 47
2417376 Bottom heat technique of mango cutting for rooting is done at

3T P! HAH P oIS J Bl B dleH Bic db-id HY dIHM W BT St 872

50°C
A

50°C

32°C
B

32°C

40°C
C

40°C

100°C
D

100°C

Correct Ans : B

Q.No: 48
2417377 Cell division continues till maturity in fruit development of

59 wa & o™ d Bd & UbA dP HIRAGT AU TRY IgdT 8?2

Peach
A
g
Strawberry
B
Avocado
(o]
LG
Apple
D
A9

Correct Ans : C



Q.No: 49
2417378 First successful transgenic fruit plants are produced in

T UEd fr9 B & T g il BT e o mare

Pear
A

TRt

cherry
B

ELj

Walnut
C

@RI

Apple
D

Jg

Correct Ans : A

Q.No: 50
2417379 Yeast is used for making

GHR 1 SUANT 1 1 T fbar o 82

Nectar

AT

Cordial

EJIRR ]

Cider

Syrup

Rrw

Correct Ans : C

Q.No: 51
2417382 Sigatoka is associated with

Rymeie forad weifta 37



Mango

A
3
Banana
B
Far
Apple
Cc
GiE]
Pineapple
D
SEAMN™

Correct Ans : B

Q.No: 52
2417383 Which hormone is most effective in hulling of walnut

3TRIE P glerT § I I1 g Gag 31 T giar 872

GA3
A
Sie3
Kinetin
B
HIgAfed
IAA
Cc
3TEYY
Ethephon
D
TABH

Correct Ans : D

Q.No: 53
2417387 Marmalade is prepared from

R {59 et I JIR fobar S 22

Custard apple

TR



Apple

B
9
Orange
(o]
araft
Litchi
D
ic

Correct Ans : C

Q.No: 54
2417393 Evaporative cooling system works on main principle of

refieRor Hiae gl 6 v Rigid R &1 Sl 82

CA storage
A
Hie HsRU
MCA storage
B
THHT SR
Zero energy cool chamber
(o]
A Sl ad s
Cold storage
D

=it SR

Correct Ans : C

Q.No: 55
2417394 Sliver thio-sulphate is the best preservative of

RicarRya-Tetbe fruedT qed s uRRe 87

Cut flower
A
Fe gUHA
Spices
B



Cassava

Sweet potato

[HIDG

Correct Ans : A

Q.No: 56
2417484 The Term ‘Extension Education’ was first coined in:

TR T (e ey SrecTactt TduyT Fel SuTnT B TS ot

USA
A

RUSIY

UK
B

o

Japan
Cc

EILIEH

India
D

YRd

Correct Ans : B

Q.No: 57
2417485 The person considered as father of extension in India:

YRA H fIR &1 9 o6& AFT o 87

A.A.Reddy
A
wed
O.P.Dahama
B
St emm
J.B. Chitambar
Cc

9.4, RansR



K.N.Singh

*.0. Rig

Correct Ans : D

Q.No: 58
2417486 An Extension agent is considered to be a:

AT 3R U fIER Toie &1 gl =1feu:

Personal cosmopolite

A
HfRTTd HEFRI
Impersonal cosmopolite
B
JJufRT® eI
Personal localite
C
AR R
Impersonal localite
D

JagfRTe R

Correct Ans : A

Q.No: 59
2417487 A blue print for action is:

foreht Prd-foran & = fife &1 Fea &

Project

LiRIEE

Programme

HRIHH

Objective

3

Plan

TYoET

Correct Ans : D



Q.No: 60
2417489 The extension approaches wherein success is measured in terms of the rate of take up of the recommendations, and increases in national

production:

foR =i e sifa gwad o el S om 3 @ ok IS Sared § gfe & ged § W@ qeaifed far o

Project approach

A
giagieT e f®ion
Commodity specialized approach
B
FHISE fafdre et
Cost sharing approach
C
TRTA AT EVHI0T
General agricultural extension approach
D

I ST Feeh =Pior

Correct Ans : D

Q.No: 61
2417491 The optimum number of flash cards is:

T BT B IPAH TS Bl ¢

10-12

10-12

12-14

12-14

14-16

14-16

16-18

16-18

Correct Ans : A

Q.No: 62
2417492 Sarvodaya scheme was started by :

Ydfeg WA 5% gRT 3™ &1 T8



F.L.Brayne

A

TP. T899

Spencer Hatch
B

W &9

VinobaBhave
C

famitar ura

T. Prakasam
D

&, upRm

Correct Ans : C

Q.No: 63
2417493 Who is the secretary of Gram Panchayat?

I UaTgd o7 IR B 8T 82
Sarpanch
A
[WUT
ADO
B
TStait
BDO
Cc
Cic &S
Gram Sevak
D

I AaH

Correct Ans : D

Q.No: 64
2417495 The Ganga KalyanYojana is for:

T e Ao by B & for §:

Consumption purpose of farmers

foraml @1 Tud T



Irrigation for small and marginal farmers

B

g SR Wuia frart & Rig Riarg

Credit support scheme for rural people
C

gt A F e ide wuda

Credit support scheme for small farmers.
D

B frumi & e sfee auda

Correct Ans : B

Q.No: 65
2417498 DRDA is located at :

R Hel T §:
State level
A
oY TR W
District level
B
T TR w®
Block level
C
EICERS AT
Village level
D

TH TR W

Correct Ans : B

Q.No: 66
2417766 Green Revolution in India was founded by whom in India to increase agricultural productivity in the developing world

URd & gRa Hifa Bt R e gRT YRd ¥ fasreia 33t § S Saredar sgm & forg ot 18 ot

M.S. Swaminathan

.. AT

Charles Darwin

e s1fdT



Norman Borlaug

C
AT RENT
R.D. Iyer
D
IRIY TR

Correct Ans : A

Q.No: 67
2417767 Which one is not regarding plant breeding?

DI TP TGy Ui & JaY § el 82

Increase the quality and yield of crops

A
wHd! B o 3R 3u # gf
Manipulation of plant species
B
dral ot yenfoa ® IR
Disease-resistant plants are produced
Cc
A1 wferRYeR el w1 Ieure fan S @
Used in manipulation of leaching method in mining plants
D

G "aE # ofifei faf & @R & Sya fean sirar @

Correct Ans : D

Q.No: 68
2417768 Which one is involved in plant breeding practices?

ey g gt # S i g2

The hybridization of pure lines

A
s 313 BT HHI0T
Maintain soil texture
B
firdt o) sTae I @
Check precipitation
Cc

auf 3 wifg F¥



Study data analysis

a1 fazawor &1 srema

Correct Ans : A

Q.No: 69
2417772 Which step is the main root of any plant breeding programme

B 1 =R B ff Uy yS BRIk H @Y Ho S gl @

Genetic variability

A
STgarRie uftad-=itear
Evaluation and selection of parents
B
aTar-frn &1 geaied 3R T
Cross hybridisation among the selected parents
C
Tafra Trar-Rar ¥ §9 wig gieresE
Selection and testing of equipments
D

IUPHIN BT TG 3R Tgor

Correct Ans : A

Q.No: 70
2417778 The quickest method of plant breeding which introduce sudden changes in the genome.

TIeY Yo B! Jod ot faftr S Sfiie & srares afvad andt 31

variable selection

A
Rad==ie Taq
cross breeding
B
P ST
hybridization
C
0T
mutation breeding
D

IARad_ ueET

Correct Ans : D



Q.No: 71
2417779 Similar genotypes produced by plant breeding technique is called

UIey Yo deb-ie gRT Fffd IAM Si-iesy Sgad §

Clone
A

FA

Offspring
B

CRE)

Progeny
C

Tafa

Genome
D

Einit]

Correct Ans : A

Q.No: 72
2417780 Atlas 66 is a biofortified hybrid wheat variety which has been used as a donor for improving cultivated wheat and is rich in

A 66 Uh SAIBICHIES SBHs Ig &1 fhw ¢ R swaama 78 3 I & YR & kg orar & =9 & fvar man § iR 78 99 @

iron
A
I
fats
B
qar
proteins
(o]
I
vitamins
D
et

Correct Ans : C

Q.No: 73
2417781 In 1986 which first transgenic virus resistant plant was produced using virus resistance gene, which generates resistance against virus

attack.

1986 ¥ aTERY YRy S HT IUGNT HRS UgHl ol-e IRy UfaRieh Fa= o1 Iae fbar mar oT, S aeRY & §9d & s vkl I R 3



Potato

A

ST

Cotton
B

CIk)

Tobacco
C

dere

Tomato
D

cHICY

Correct Ans : C

Q.No: 74
2417782 Nutritional quality has been improved by the addition of vitamin A by genetic engineering in which plant

g M & sngdfie Soifafar grT et A &) <nfird e uior Jores & gUR & mr g2

Cotton
A

U

Maize
B

HIDBT

Wheat
Cc

Rice
D

EICG)

Correct Ans : D

Q.No: 75
2417784 In which technology the life of a tomato is enhanced.

g qaie B chreR @1 39 & gig @1 9t g1

Antisense technology

TR ae



Gene jumping

B

St it

Chromosome jumping
C

TUREA %&

Microbial technology
D

TgHIge Wenfet

Correct Ans : A

Q.No: 76
2418011 Discolouration of areas on leaves, stems and roots are the common symptoms in fungal diseases but also occurs in bacterial and viral

diseases is called-

Te S A7 B RRN, a1 3R SIS & $E U BT TN WIdbT USAT WA G0 8, Qs T8 Sfiamy] SR arareri & +f g1 §, o1 g 82

Necrosis
A

LIRGE |

Crown gall
B

PISA Tid

Rots
C

Gummosis
D

TR

Correct Ans : A

Q.No: 77
2418012 The yellowing of green tissues or structures (especially leaves) due to either non-formation or destruction of chlorophyll.

FARMPA B 7 T4 7 ¥ B & BRI gL SHab! a1 Tea-si (IR ufwal) &1 dierm ven

fire blight
A

PIAR =lgc

Chlorosis
B

FARIR



rots

Cc

damping off
D

3k ga

Correct Ans : B

Q.No: 78
2418013 Which of the following is a common symptom of plant disease?

fafafad & & B9 I Trey-A7 BT T JHET A& 82

Different Height Of Plants

A
WY A fafta S
Different Flower Colour
B
ST T T & T
Perfect Flowering
c
gof gor &7 I
leaf curl
D
gof ==

Correct Ans : D

Q.No: 79
2418017 Chemosterilants are the chemical compound used to control economically destructive or disease-causing pests by causing

PRl TmEfe A € Ser Suai offe w0 ¥ et ar I der - arat Sid) & Fafld 3 & o fear s g

sterility of one or both of the sexes

A

TP 1 S} fe $ afera=

excessive growth regulators synthesization
B

Srafis faer e axdvor

inhibit feeding of the insect
Cc

P F U B ABAT



declining in growth

faer ¥ fiRmae

Correct Ans : A

Q.No: 80
2418018 Plant Quarantine regulatory measures are operative through the "Destructive insects & pests Act, was introduced in India in

ey IRy e I "fIeR] SIS iR Pie sififm”, & died ¥ Jafed § 98 YRd feg af # Iwr far ma-

1917
A

1917

1915
B

1915

1926
C

1926

1914
D

1914

Correct Ans : D

Q.No: 81
2418019 Which Contact poisons penetrate the skin of the pest and are used against those arthropods,that pierce the surface of a plant and suck out
the juices.
PH Y YUS TR Pie P! a1 H YA FRA & 3R 37 Mgy & Raars Iudi fHe o €, S 18 6t 9ag &) Bad § SR 0 9 g
Malathion
A
BeniaE
caldrin
B
DDT
C
S
Pheromone
D
HRTT

Correct Ans : A



Q.No: 82
2418020 The scientific study of diseases in plants caused by pathogens (infectious organisms) and environmental conditions (physiological factors)
is called

Qe & IToFD! (Hepieb witdl) 3R gaiaruiia oRfRufEt (Arie BReT) & SR EA ard I & A e Bl Bl Sl §

phytochemical

A
BT IBmd
phytopathology
B
LaE T
phytotoxicity.
C
PIge eifatRIdt
phytoplankter
D

LJEGLSIE T

Correct Ans : B

Q.No: 83
2418021 Who is the Father of Mycology and Plant Pathology in India and became the Imperial Mycologist in India

YR & AIgPIaron 3R wic Jeieloh & P P § 3R YRd § SHRue ArgdIaioRe sv?

EJ Butler
A

3 Tew

KB Khurana
B

Fet G

R.C Dubey
C

SRR g&

R Prasad
D

3R YdTg

Correct Ans : A



Q.No: 84
2418024 Rotenone is an odorless, colorless, crystalline isoflavone used as a

WA T T, FTEH, Rt STEEITRIEN 3 RRTBT G- ---mmemoeev & v F farar o @

Insect hormone

A
Fie g
Natural insecticide
B
WIHfA® BleA=Is
Bioherbicide
C
EIRIH R R
Herbicide
D
RITHIRI

Correct Ans : B

Q.No: 85
2418026 Pyrethrin is made up of six toxic chemicals that together constitute an insecticidal property is extracted from

TR B8 B YA A 1 SidT € Sf U 1Y e T dle-reies Jui o1 fafor ra § a8 fhad feren iram @

Rosa Carolina

A
e HRAfRAT
Helianthus annuus
B
Y T
Lilium canadense
C
frferam s
Chrysanthemum cinerariifolium
D

TaeEd RmRiwiferay

Correct Ans : D

Q.No: 86
2418147 Which of the following plant hormone, plays a primary role in allowing K+ to pass rapidly out of guard cells, causing the stomata to close in

response to drought?

Foffaa & & S I DT HEE K+ B S BTl & Aot § Sex Faver @t srgafa &7 8 wruiie s Furdr 8, e 3@ @ fRufa 3 3 9 81 o 82



Cytokinin

A
ISP
Abscisic Acid
B
e Thrs
Ethylene
C
TRy
Auxin
D
Siffea

Correct Ans : B

Q.No: 87
2418148 Which among the following plant hormone, increases as a plant response under flooding conditions?

o1 @ Rufa & 09 § Poffed § A o9 @ uey gMiA gedr 82

Gibberellic acid

A
forafere e
Auxin
B
SR
Abscisic acid
Cc
ufeuiye s
Ethylene
D
R

Correct Ans : D

Q.No: 88
2418149 Which, among the following membrane transporters, shows active transport mechanism?

Faffed Rl cmidd & @ o9, Iy ¢iguré o 1 axifar 82

Carrier proteins

HRaR M=



Channel proteins

B
T WA
Pumps
C
Ll
Co-transporters
D

PI-giEUeRY

Correct Ans : C

Q.No: 89
2418150 Casparian strips-

e Rw-

are present in endodermis to prevent water and ion movement.

A
Ui 3R AT waTe B A & g tStsify A dieg g €
are present in xylem tissue to prevent water and ion movement
B
TR R STE TaTE $Y Ao F RiT TEaH Sad | deg oidt §
are present in phloem tissue to facilitate solute movement.
Cc
FAEH Saw | Iy yarg & gRusHe 399 F e dig i g
are present in endodermis to facilitate solute movement.
D

g warg # gRuee T F e st & dvg g §

Correct Ans : A

Q.No: 90
2418151 The most accepted theory to explain ascent of sap in plants “transpiration-cohesion-tension mechanism”, was proposed by:

qelf T TYRIGY B AR B3 & oY T Wpd Ry Ao -t -a1a =" e gIRT URafad fopar T T

J.C. Bose
A

. <. 9

Godlewski
B

Tsdowt



Dixon and Jolly

c
e ik wifelt
Strasburger
D
TWNTHR

Correct Ans : C

Q.No: 91
2418152 In a process of global nitrogen cycle which among the following is not the key step?

Ay ATECIoH T @t Ui # FEfifd ¥ ¥ SH-I Aeaynl @R e 22

Fixation of atmospheric N; to NH; and NH; and by bacteria

A
ARIHSARI N, &I NH; 3R NH, 3R drdRargany Rudistor
Denitrification of nitrate by bacteria back to N>
B
SHATURHT CaRT ATS¢C T HATSE 10T ATaH N, 3,
Nitrification of these molecules to nitrate by bacteria
C
3 33t &7 SiaTysii GRT ATgee H AREIHUr
Nitrate oxidation by plants
D

dref gRT Agee SiRfHI

Correct Ans : D

Q.No: 92
2418154 Darwins’ phototropism experiment and Went’s coleoptile tip experiment are related to which of the following hormone:

S T USTRITIaH WM SR I 1 Hrarersd fou wam fFofafed & @ fra gmiF § J6ita &

Cytokinin
A
RIFCEIFEE]
Auxin
B
Siffea
Gibberellic acid
C

forerfere thrs



Ethylene

wfyefts

Correct Ans : B

Q.No: 93
2418156 “Triple response”, a key reaction of ethylene, is characterized by:

"R ey, it R o 3 T v e 8, 3 R &

Plumule hook opening, positive gravitropism and internodal elongation.

A
WP §F URYA, TSRS [E@Ibyu R aRudaty afF |
Excessive cytokinesis, negative phototropism and parthenocarpy.
B
Al HT AU, TERIAS YHRIgaa R fvewad|
Inhibition of stem elongation, promotion of lateral swelling of stems, and reduced sensitivity of stems to gravitropic
stimulation.
C
1 Eeffmror Y A1, a1 BT uref Yo B gQrar 1 AR [EATHYU F Ui a BT Fagirerar § ot
Fruit ripening, plumule hook opening and negative phototropism.
D

Bl BT UHT, WP §F TRYT 3R THRIAS TSI |

Correct Ans : C

Q.No: 94
2418157 Photomorphogenesis can be defined as:

YHTRITHHESHRE B 39 bR URHING fHar S 9w §:

Reproductive events in plants controlled by light

A
WHTRT T Urell & yore fmarsit o1 fosror
Light dependent seed germination event
B
ST GRT IS SigpRor o7 fa=ror
Release of plant hormones under controlled light conditions
Cc
Frifia yorw oY fRufa # urew s &1 fada=
Physiological and developmental events in plants controlled by light
D

U gRT Wrel # ;RS 3R AT gemsi @1 fArasur

Correct Ans : D



Q.No: 95
2418164 During the process of seed germination, which of the following hormones diffuse through the endosperm to a surrounding tissue called the

aleurone layer?

frofifad & 3 S a1 uey gMH, dI9 & SGRU B UhAT & <R, TSRUH & A9 ¥ TR Rd & RaRd giar 82

Auxin
A

SR

Brassinosteroid
B

FRARRRIES

Gibberellins
(o}

Rrefer

Cytokinins
D

GIEGICIRE:)

Correct Ans : C

Q.No: 96
2419110 An Enquiry into the Nature and Causes of Wealth of Nations” is the book of economist

¥ ORI TG & AR TS Floiel 31t I 3 ARM (P & 87 B TP MR FROT Bt e 75 srfemeedt ot g g2

Adam Smith
A

ey fAry

Marshall
B

Trfea

Robbins
C

RUCE:]

J. S. Mill
D

. 9. e

Correct Ans : A



Q.No: 97
2419117 Who is known as the father of economics?

SRR BT S b AT STl 27

John Maynard Keynes.

A
S A1 P
Milton Friedman.
B
e wishw
John Pedro Sanchez.
C
S gt wihw
Adam Smith
D
sy Ry

Correct Ans : D

Q.No: 98
2419118 Gross profit is -

T Y -

Cost of goods sold + Opening stock

A
T T AT B AN + URIUS TP
Excess of sales over cost of goods sold
B
I T AT B AT TR A B sifdremar
Sales fewer Purchases
C
A vu @die
Net profit fewer expenses of the period 4
D

3afd 4 F Y AT FH @I

Correct Ans : B

Q.No: 99
2419120 Net return per hectare is:

I. Overall efficiency measure
I1. Partial efficiency measure

III. Specific efficiency measure



T BRW Y& T ...
1. gAY <&fdl Iurd
11. 3R garan I

111. TRy geram o

Only 1
A

Fad I

Only II
B

Fad II

Only III
C

Fad III

All I, II and III
D

I 1,11 3R 111

Correct Ans : A

Q.No: 100
2419121 When variable cost is zero, the total cost will be?

1. Equal to variable cost
II. Equal to fixed cost

III. Equal to average variable cost

e uRadRie AT [ 8, O S AnTd e g
1. URARIT AT & SRTER

11. RR AN & R

I11. 3N uRad-RId arTd & SRR

Only I
A

Fad I

Only II
B

Fad II

Only III
C

Fad III

All I, IT and III
D

It 1,11 3R 111



Correct Ans : B

Q.No: 101
2419221 On which of the following river’s banks is the Barabati Fort situated?

TR fpar Fafifed # ¥ frg 98 & dc W Rua g2

Krishna
A

o

Godavari
B

Meradt

Mahanadi
C

EREC

Hooghly
D

Correct Ans : C

Q.No: 102
2419223 Which of the following forts has the Fateh Darwaza?

frofafea # ¥ frg fra & wag e 82

Mehrangarh Fort

A
Age fhem
Vellore Fort
B
e fomem
Kangra Fort
C
HiTeT fhar
Golconda Fort
D

e lsT e

Correct Ans : D



Q.No: 103
2419300 Which of the following is NOT an example of Fixed Capital?

i o  H19 o=a Yot 31 Il 8t 872

Building

Machinery

=i

Tools

Labour

99

Correct Ans : D

Q.No: 104
2419301 The measure of unit for lands used in the local villages is also known as -

R Tid # IUE B S Al Y b R TS & |y 1 o el S 872

Bigha
A
Cib
Guintha
B
=
Centimetre
C
Héer
Both Bigha and Guintha
D

tar iR frer G

Correct Ans : D

Q.No: 105
2419309 Which of the following defines disguised unemployment?

fofafed # § S 79 RIS &1 aRHIfvd Far 82



It occurs when the productivity is high and therefore workforce is laid down.

A
g 9 BT € SId STGadT A gt ® 3R safe srdaw fruffya far wmar @
It occurs when there are too many qualified people for the work.
B
g 99 BT & W ®H & ¢ 9gd 1w givg anr g §
It occurs when productivity is low and too many workers are filling too few jobs.
C
g 99 BIAT & W9 IATGHdT HH il ¢ 3R 9gd A FHIR] 959 U Ao ai WL e &
It occurs when the business goes bankrupt
D

g a9 BT & W a9y faarferar g wrar @

Correct Ans : C

Q.No: 106
2419381 Which of the following teams won the ICC Women's T20 World Cup 2020?

fFafafed & @ by v 7 srgard afgen d-20 3y $7 2020 S

India
A

HRA

New Zealand
B

Australia
C

West Indies
D

ERERI !

Correct Ans : C

Q.No: 107
2419505 The forces that work on the surface of the earth are known as which of the following?

7t I Tdg R F B A gt B i # ¥ 5 w9 § S 9 82

Endogenic forces

Saeitd 4



Exogenic forces

B
qigwia aa
Sudden forces
C
AHTPHP dd
Diastrophic forces
D

Ued fawuor ga

Correct Ans : B

Q.No: 108
2419542 Warren Hasting became the first Governor General of India in which of the following years?

A & Faffad & @ 59 98 # YR & U8 AR SR §9?

1753
A

1753

1763
B

1763

1773
C

1773

1793
D

1793

Correct Ans : C

Q.No: 109
2419544 The East India Company acquired a charter from which of the following ruler of England, granting it the sole right to trade with the East?

e T Hu A s & el & § oy Ire I U 91ek U fbar, R 39 g & 1Y AMUR R &1 ThAe SR e mar

Queen Elizabeth I

P TREEY 1

Queen Elizabeth II

CiERYREICK B



Richard II

C
fag 11
Henry IV
D
TR IV

Correct Ans : A

Q.No: 110
2419624 Who had composed the Geeta Govinda or Gita Govinda?

i Mde &1 == fFaa ot di?

Tulsidas

gaddier

Kalidas

PIfergR

Surdas

o™

Jayadeva

Saea

Correct Ans : D

Q.No: 111
2419626 Who is the writer of the novel “"The Guide”?

g MES" ITUY b 4GP B 82

Ruskin Bond
A

P as

R. K. Narayan
B

3R, F. TR

K. R. Narayanan
c

F. AR, TRV



R. K. Laxman

3R, &. A&

Correct Ans : B

Q.No: 112
2419702 The Constituent Assembly, following the partition of India in 1947, consisted of how many members as on 31st December 19477?

1947 B YRA & AU & a1¢ Ifgu quT & 31 faR 1947 & fovan wewa A2

299
A

299

229
B

229

199
C

199

169
D

169

Correct Ans : A

Q.No: 113
2419704 Fundamental Rights are enumerated in the Constitution of India under which of the following Parts?

URd & Ifay™ & Dfeie SRy &1 o Fafefad § 9 g um & siafa ot 7 §2

Part II
A

YT 11

Part III
B

HIT I1I

Part IV
C

HAT IV

Part Vv
D

HITV

Correct Ans : B



Q.No: 114
2419718 The Constitution of India provides for how many kinds of Writs?

HRA BT IRYH b TR F R Ter & 82

2
A

2

4
B

4

5
C

5

7
D

7

Correct Ans : C

Q.No: 115
2419907 Who was the governor-general when the Pindari War was fought?

It I & TG TTaR ok HH A?

Lord Dalhousie

A

SICKCC T

Lord Hastings
B

ars ™

Lord Bentinck
C

s afew

Lord Cornwallis
D

WIS Pi-arerd

Correct Ans : B

Q.No: 116
2419908 Which of the following mahajanapadas was situated in Madhya Prdesh?

fafifea & § F1F @1 meoHYe A vew # R ur?



A
Hedl
Anga
B
3T
Surasena
Cc
Avanti
D
3radt

Correct Ans : D

Q.No: 117
2419978 Which of the following cities of Madhya Pradesh have been selected for UNESCO's ‘Historic Urban Landscape’ project in July 2021?

e TR ¥ FHiiad ¥ 9 59 wer & gars 2021 H gl 31 e et uikewa uiaierT & o g ma 82

Bhopal and Jabalpur

A
UITd 3R TeAqR
Gwalior and Orchha
B
TIRRR 3R 3RBT
Mandu and Orchha
Cc
Tig 3R SRS
Indore and Mandu
D

R S wig

Correct Ans : B

Q.No: 118
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the

appropriate option. If a sentence is free from error, select No error.

The Prime Minister is going to launched ‘Jan-Dhan Yojana’ scheme to benefit the villagers.

A The Prime Minister is going

B to launched ‘Jan-Dhan Yojana’

Cc scheme to benefit the villagers.



D No error.

Correct Ans : B

Q.No: 119
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the
appropriate option. If a sentence is free from error, select ‘No error’.
The cotton crop in the eastern region was adverse affected by insufficient rainfall last year.

A region was adverse affected by

B The cotton crop in the eastern

C insufficient rainfall last year.

D No error

Correct Ans : A

Q.No: 120
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the
appropriate option. If a sentence is free from error, select ‘No error’.
The police said that this was one of the most vicious attacks they have ever seen.

A The police said that this was

B one of the most vicious attacks

(o} they have ever seen.

D No error.

Correct Ans : C

QNow 2t Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No
improvement.
The document is (concerning) your health and that of your family.

A concerns with

B concerned with

C concerns

D No improvement

Correct Ans : B

Q.No: 122
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No

improvement.

I'll (clear out) this drawer and you can put your things in it.



A clear

B clear up
C clear off
D No improvement

Correct Ans : B

Q.No: 123
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No

improvement.

The accused (denied the charges) framed against him.

A declined the charges
B denied charges

C refused the charges
D No improvement

Correct Ans : D

Q:Now 124 Out of the given options, choose the one which is the correct passive voice of the sentence given below.
Who did this work?

A Who has done this work?

B This work was done by who?

C By whom was this work done?

D This work was done by whom?

Correct Ans : C

Q:Not 125 Out of the given options, choose the one which is the correct active voice of the sentence given below.
I am disappointed that an unrealistic policy has been adopted by committee.

A It has disappointed me that the committee has adopted an unrealistic policy.

B It is disappointing to me that the committee has adopted an unrealistic policy.

(o} It disappoints me that the committee has adopted an unrealistic policy.

D It has been disappointing to me that the committee has adopted an unrealistic policy.

Correct Ans : C



Q.No: 126
In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which

best expresses the same sentence in Passive/Active Voice?

Can you see the sun in the sky?

A Can the Sun in the sky be seen by you?
B Can the Sun be seen by you?

C Can be the Sun seen by you?

D Can you seen the Sun in the sky?

Correct Ans : A

QNow 127 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which
best expresses the same sentence in Passive/Active Voice.
Our hosts were thanked by us for their kindness and hospitality.

A We thank our hosts for their kindness and hospitality.

B We thanked our hosts for their kindness and hospitality.

Cc We will thank our hosts for their kindness and hospitality.

D We are thanking our hosts for their kindness and hospitality.

Correct Ans : B

QNow 128 Out of the given options, choose the most appropriate word/set of words to fill in the blank.
The jury ______him guilty.

A found

B have find

C has find

D have finds

Correct Ans : A

Q.No: 129
Out of the given options, choose the most appropriate word/set of words to fill in the blank.
Columbus America.

A discovered

B have discover

C have discovered



D has discover

Correct Ans : A

QMo 130 Out of the given options, choose the most appropriate word/set of words to fill in the blank.
Used car sales down because of the increased cost of new cars.

A have gone

B had go

C have went

D has go

Correct Ans : A

Q.No: 131
Select the most appropriate option to fill in the blanks.
He came to the surface of the water for air.
A dwelling
B working
C shaking
D Gasping

Correct Ans : D

Q.No: 132
Select the most appropriate option to fill in the blanks.
Richard was to atone for his thoughtlessness.
A anxious
B general
C campaign
D dialogue

Correct Ans : A

Q.No: 133

Select the most appropriate option to fill in the blanks.

Regions specialised in heavy industries may to invest in the infrastructure required for the decarbonisation of such industries.
A needing

B needs



C needed

D need

Correct Ans : D

Q.No: 134
2420199 The human eye is most sensitive to yellow-green light having wavelength -

A 77 41-8X TSN & RIT S Haeid g &, Rraet aves @ -

1550 A
A

1550 A

8550 A
B

8550 A

5550 A
C

5550 A

9550 A
D

9550 A

Correct Ans : C

Q.No: 135
2420204 Which of the following is not an insulator?

fFufefad & ¥ $H e paas T 82
Mercury
A
qRT
Bakelite
B
FparET
Rubber
C



Glass

R

Correct Ans : A

Q.No: 136
2420360 Which of the following is the ratio of Oxygen to Nitrogen in the air?

o & ¥ $ 501 & SiRiivH ok A1SeeH &1 3gud 82

S}
W

[S9)
W

Correct Ans : A

Q.No: 137
2420362 For the process of photosynthesis, which of the following gases is required during the day?

&7 & TTm yeTx e @t uftean & for Fuffea o ¥ fow 19 @t siawgedr g1t 82

Nitrogen
A
BIECEE]
Carbon dioxide
B
BT SFATRIES
Oxygen
C
Siffter
Argon
D



Correct Ans : B

Q.No: 138
2420367 Anesthesia which is administered during the surgeries in the hospitals is a mixture of which of the following gases?

STarel # Teidt b SR & WA areht TehRun Fafifed & § few T o o g

Oxygen and Nitrous Oxide

A
STRIIeA 3R ATgeH fFgs
Oxygen and Nitrate Oxide
B
STeRfie 3R ATgee 3ifaIsS
Oxygen and Ammonia
C
Sifefier iR sraferr
Oxygen and Phosphorus
D

SfRfie iR PRERT

Correct Ans : A

Q.No: 139
2420377 The amount of water vapors differs from place to place. Its amount is minimum in which of the following places?

SITATST T HIAT ST~ 37ERT SFTE! IR SfeT-31e B §| 39! 75 5 8 § by R | 3giaw 32

Pacific Ocean

A
URMid HgRINR
Antarctica
B
Mcarcol
Indian Ocean
C
fég weITR
Arabian Sea
D

SRE AR

Correct Ans : B



Q.No: 140
2420500 Which of the following is NOT a sexually transmitted disease?

frofefaa & § SH-T1 39 Faia A T8 32
HIV/AIDS
A
THTEd / Tgw
Pubic lice
B
e o
Trichomoniasis
C
TP TR
Blood Cancer
D

I FWR

Correct Ans : D

Q.No: 141
2420501 What is the gap of time between the entry of germs into our body and appearance of symptoms of the disease called?

TR IR H Flergsff & yawr iR I F AN & U g1 b o & SIRTA B FT Hed 57

Incubation period

A
SR i
Pathogenic period
B
IS rafy
Contagion period
C
ThT® fafy
Inactive period
D

faferg srafy

Correct Ans : A

Q.No: 142
2420513 Which of the following is NOT a symptom of Amoebiasis?

fFafafed & @ o srfieraRig &1 dem & 82



Abdominal pain

A
e o
Cramps
B
o
Constipation
C
ool
Temptation to binge eat
D

& a1gaT WA &1 gy

Correct Ans : D

Q.No: 143
2420641 The word “acid” comes from a word.
TRIS" Ues, U g Y T3
Latin
A
afes
Greek
B
picg
Roman
C
AT
French
D
e

Correct Ans : A

Q.No: 144
2420642 Which of the following is NOT a natural indicator?

frafifed @ 8 3 o Upfie dhas 1ol 82

Turmeric

gl



Litmus

B
forewa
China rose petals
C
94 o Ft ugfeat
Methyl orange
D

foryrga oS

Correct Ans : D

Q.No: 145
2420645 Which of the following is the least acidic fruit?

9 & $F 91 998 $H 3y B 87

Lemon juice

A
i EaRs:|
Amla
B
STHAT
Lime
C
Watermelon
D

WL

Correct Ans : D

Q.No: 146
2420649 Which of the following is used to treat the soil when it is too acidic?

o & I frue Suan safie sl 89 W g} & SuEr & fore far o 82

Quick lime
A
@Ra AT
Organic matter
B

Praf® gerd



Salt

Organic matter and salt both

Pt Tgrd 3R THE Sl

Correct Ans : A

Q.No: 147
2420886 The organism living in the habitat, both plants and animals are which of the following component of the habitat?

ST H g a1 S, MY SR TR g Ay & Fufatad & § B9 ¥ ued 82

Biotic Component

A
e TP
Abiotic Component
B
AP ged
Aquatic Habitat
Cc
S AT
Terrestrial Habitat
D

R SmaT

Correct Ans : A

Q.No: 148
2420887 Changes in our surrounding which makes us respond to them are called?

AR M- H B9 aTe URadH STt g8 39 WR Ufafshar a4 & forg I axa §, Fofafea o @ w1 sead 82

Reflex
A
e foran
Stimuli
B
UL
Reproduce
Cc



Evolution

Sife® faer

Correct Ans : B

Q.No: 149
2420890 The rounded end of one bone joins with the hollow space of the other bone, allowing movement in all directions, in which of the following

types of joints?

frofefad ¥ @ f5g ueR & s # U &) &1 Ma RRT gt 581 & @relhl M @ oar 3, @ gt fezmsit & vfy uem gt 22

Fixed Joint
A

3aq iy

Pivotal Joint
B

R

Ball and Socket Joint
C

Hinge Joint
D

&= =y

Correct Ans : C

Q.No: 150
2420898 The broad green part of the leaf is known as which of the following?

Tt & A &R UM F e # § g w9 o o 22

Midrib
A
qeafRRT
Leaf Veneration
B
RrT o=
Lamina
C
el
Reticulates
D
St w4t

Correct Ans : C



Q.No: 151
2421090

C

D

At a certain film festival, eight films will be shown J, K, L, M, N, P, Q, and R. The order of the showings must meet the following conditions:
N is shown before L, J is shown third, Q is shown fifth. If N is shown immediately after P, then P could be shown?

& (i fve TuRIE &, 88 & J, K, L, M, N, P, Q, 3R R faarg wmift| vesf+i &1 va Faferiad =il @ @1 e =iRe: N @) L & uger fzamar S
8, 1 % IR feamn e R, Q Y Uikt feamn S 81 g P % $ie a1e N famn S B, P Y foaman o Webel §:

Third
Giin)
Fourth
T

Fifth
LIEC]]

Sixth
Bol

Correct Ans : D

Q.No: 152
2421092

C

D

E, D, F are sitting in a row facing towards West. E is not at the right end. B is just right of C but left of F. only D is between A and
is at the right end ?

, B, C, E, F U ufa # ufdm f=n &1 3R 7@ 33 98 gU S E 3 ©R W e 81 B, C & 3P Q1'% 3R ¢ iR F & o153 3R 81 $aw D, A R C F
3T 31 AT BR W B 22

Correct Ans : B

Q.No: 153
2421118

In the given figure, which number represents how many such pens are either new or blue, but not both?

<+— Pen
NeWw m—— | 31 o4 42
38 | 48
21 56
19 25 y
91 53
Blue

&1 TS emepfar H, 1 A T H T b O 8 S € a1 A €, Afe G 7Y @ 1wl 82

42 hol
AT —— | 31 4
38 | 48
21 56
19 25 y
91 53
EIE
210
210
200



200

220
C

220

215
D

215

Correct Ans : C

Q.No: 154
2421143 Some statements are given below followed by some conclusions. Taking the given statements to be true even if they seem to be at

variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:

I. All guavas are fruits.

II. No carrot is a fruit.
Conclusions:

I. Some carrots are guavas.
II. All guavas are carrots.

III. No guava is a carrot.

F B 419 T 1T § ok oo ey fou u €1 fiu U s %) W A ge o, it § I g g 9 e udia 8 €, d 3t fses @ ug ek
R fAofa & 6 fow e frepe§ & @ o1 W1 U 7T HYT &1 Alfches T F SIERY Il 3

HY:
1. Tft omEE B §)

I1. Y +ff TR e oY 3
o

1. $B TR 3HEE 8]

11. 3 3Eg TR B

1L B ot smEg MoR 8 3]

Only conclusion (I) follows

A
Faa freed (1) SR A §)
Only conclusion (II) follows
B
Fae by (I1) TR0 4 8]
Only conclusion (III) follows
(o)

Fad frepd (IIT) SEET &34 8

No conclusion follows



H1E 1t Frepd SrgaRor 78 B 2]

Correct Ans : C

Q.No: 155
2421151 In the question below are given some statements followed by some conclusions. You have to take given statements to be true even if they

seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements:

All Hours are Seconds

All Seconds are Minutes
Only few Seconds are Days
Conclusions:

I. Some Minutes are Days

II. Some Hours are Days

I U H $B FUA 3R ITF 1E $© Y @ M F) omus! i T w5 I AT R, 4 ) 3 1 9 § orerT Tl B g1 et e # ufen
3R forR Fofg Fifsre fos feam man w1 a1 s a0 el 6 ToRaE HRA R B BT dIfhd 0 ¥ SR H ¢

BY:
it 0 Jbe B

ff Is e @
Fad $o A$s A 3
s
Lo e A’
IgBHRae

Only conclusion I follows

A
Paa ey 1 R Hear @
Only conclusion II follows
B
Fad Py 1T FERT HaT &
Neither conclusion I nor II follows
C
Tt fsed 19§ 11 SR HRan @
Both conclusions I and II follow
D

e 1 3R 1T argeRr BT €

Correct Ans : A

Q.No: 156
2421295 Choose the one which is different from other three alternatives

U e fawett & ¥ I fIwed 3 gAY, S o i et I i 71



Larceny

A

G

Robbery
B

Tqc

Snobbery
C

ST

Burglary
D

Ty

Correct Ans : C

Q.No: 157
2421297 Find the odd word/Letter from the given alternatives.

fou u fawent # @ fauw We/ 3HeR A BIvA|

ABB
A
ABB
BCCC
B
BCCC
CCCDDDD
C
CCCDDDD
DDDDEEEEE
D
DDDDEEEEE

Correct Ans : B

Q.No: 158
2421302 Choose the odd one from the given alternatives.

feu M fawent @ A1 & gH|

BCFG

BCFG



NORS

B
NORS
WXAB
C
WXAB
EGFC
D
EGFC

Correct Ans : D

Q.No: 159
2421309 If x is coded as +, - is coded as +, + is coded as x and + is coded as then

88-11+2x24=7

e x B + $ FTUH DS PATTR, - B + F U H Hfed fPaT T ®, + B x F U § Pifsd b 71 § 3R + &) - Sifsd feammar g, a

88 -11+2x24=7

32
A

32

40
B

40

35
C

35

30
D

30

Correct Ans : B

Q.No: 160
2421316 In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be

used more than once while each of the letters outside the intersected portion is to be use only once to form meaningful word(s). If no
such word can be formed give ‘X’ as the answer, and if more one such word can be formed, give ‘M’ as the answer, otherwise the second
letter of the word will be the answer.

GioD

2 fou U Uy F $ 3MeR &) SASTERI H Uh G &I Bled gU 3T MW T uiawdiad 4 § iU Y 31aRT 1w 4 3ifiie IR IuhNT a1 o bl § Wl
TIDTRT UM F TR F IS 3HeR T IUANT Had TP IR 340l e 9 & g fovan o B1 3 U1 1S Weg 1€t ST O Wbl © dl SR X' S, 3R
g TP 3R VAT Ueg ST O Tobell B, T IR 'M' &, 30T Vg, BT G 31&R IR ST




D
A

D

E
B

E

M
C

M

X
D

X

Correct Ans : B

Q.No: 161
2421317 In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be

used more than once while each of the letters outside the intersected portion is to be use only once to form meaningful word(s). If no
such word can be formed give ‘X’ as the answer, and if more one such word can be formed, give ‘M’ as the answer, otherwise the second
letter of the word will be the answer.

QA

2 T T vy H B 3MeR &) SASTERI H U GI B Bled §U AU U §1 uiawsied M § T Y 31aRT &1 w4 3ifiie IR IuhhT a1 o bl § Wl
ST UM F TR F IS 3HeR T IUANT Had T IR 34Iquf e M & g fovan < 81 3 T 1S Weg A1EY ST O Whell © dl SR X' S, 3R
I T SR T e ST O WHell 7, A IR 'M' &, IHTUT Wog BT ORI &R IR I

C
A

C

X
B

X

(o]
C



Correct Ans : C

Q.No: 162
2421355 Complete the following series:

AP, DQ, HR, MS, ST, zZU, ?

Fafafed yaar & Q1 B

AP, DQ, HR, MS, ST, ZU, ?

GV
A

GV

HV
B

HV

ED
C

ED

FS
D

FS

Correct Ans : B

Q.No: 163
2421359 From the given responses, find the missing letter in the series.

AEI, EIO, IOU, ?

feu U fiwent & § 9oft o g 31eR Y I W

AEI, EIO, 10U, ?

AIL
A

AIL

OUA
B

OUA

IOA
C

IOA



AIE

AIE

Correct Ans : B

Q.No: 164
2421364 From the given responses, find the missing letter in the series.

MaN, SaH, YaB, ?

fou v fasent & 9 oft & g sieR B [T BR:

MaN, SaH, YaB, ?

EaVv
A

EaVv

RaC
B

RaC

FaVv
C

FaVv

TaD
D

TaD

Correct Ans : A

Q.No: 165
2421397 In the following question, select the related word from the given alternatives.



Correct Ans : C

Q.No: 166
2421398 Select the set of numbers that is similar to the following set of numbers.

(30, 72, 132)

I GEHIsh & T BT ITT B ol (4 TSl & qg & qHH 3

(30, 72, 132)

(20, 56, 110)

A
(20, 56, 110)
(15, 30, 80)
B
(15, 30, 80)
(4, 18, 56)
C
(4, 18, 56)
(6, 22, 102)
D

(6, 22, 102)

Correct Ans : A

Q.No: 167
2421447 Find the wrong number in the series.

28, 33, 31, 36, 34, 29

3T | TTea g Bifeu|

28, 33, 31, 36, 34, 29



33

A
33
36
B
36
34
C
34
29
D
29

Correct Ans : D

Q.No: 168
2421506 What should come in place of the question mark (?) in the following question?

2-[6-{3+(—4+5+1)x8}+12]=?

fafafad uy o wsare g (?) & RIM R F91 37T 91ee?

2-[6-{3+(—4+5+1)x8}+12]=?

1
A

1

2
B

2

3
(o)

3

4
D

4

Correct Ans : C



Q.No: 169
2421515 What should come in place of the question mark (?) in the following question?

[{(486)*=(27)*} x 15] =12="

Fafafad uy & usaras g (?) & RIM R 91 37T A1ee?
[{(486)2=(27)2} x 15] =12="

365
A

365

375
B

375

385
C

385

405
D

405

Correct Ans : D

Q.No: 170
2421548 Find the smallest fraction of the following fractions?

e Rl 7 ¥ 9o SIS e w1d B

20
21

20
21

0 Ilw

0w

ER



|

Correct Ans : C

Q.No: 171
2421553 Find the largest fraction of the following fractions?

Frafafed fiell 7 @ wod 91 i 31q Sife?

63
181

24

89

Correct Ans : B

Q.No: 172
2421587 H.C.F & L.C.M of two numbers is 37 and 444 respectively, If one number is 111. Find the other number?

Tl T3l BT HeTH JHIUAdS 3R THTH TGS BT 37 3R 444 §1 IS TH W1 111 § < TIRT W T Biforg?

111
A
111
74
B
74
148
C

148



333

333

Correct Ans : C

Q.No: 173 Find the units digit of 829x677 + 342 x 873 x 256,
2421630 g29 x 677 4 342 x 873 x 256 HIHIS B 3 A B3-

A

C

D

WO NN OO »h

Correct Ans : A

Q.No: 174 7 is added to a certain number, the sum is multiplied by 5, the product is divided by 9 and 3 is subtracted from the quotient. Thus if the
2421642 remainder left is 12, what was the original number?
7 & T fAfda Tem o e o 8, A 5 ¥ TN Bt S ], Idg &Y 9 3R 3§ v o wrar 8 S by ¥ weran St 81 39 UeR afe A9 12 |,
af oo e @

30
30

20
20

40
40

60
60

Cc

D

Correct Ans : B

Q.No: 175
2421677 A company made a cubodical box of Size 32 x 24 x 10 but later on it was found at the

2
capacity of the box is 14;% less than the requirement while height is correct. Find the

percent increase in area of base to meet the requirement if he had to increase the
length & breadth in equal amount?

UF FAT o U OeAH MER H Bear e 3 FA: 32 X 24 x 10 § §AET AfA 76
mmwgm%%ﬁﬁmw%ﬁmé%maqiqi—mémzmzrfc:aimé
3R <ot =t H FHT T F FErT L, A AR & araher # fhaw gfRra F afe g8 e

2 ’
16—%
3
A
2 ’
16—%
3
15%
B
15%
2
14—%
7



Correct Ans : A

Q.No: 176
2421711 The ratio of the C.P. and S.P. of an article is 16 : 17. What is the Gain percent?

TF I S AN Ted U1 BT U 16 : 17 B, O T & I |

5%
A
5%
5.5%
B
5.5%
6%
C
6%
6.25%
D
6.25%

Correct Ans : D

Q.No: 177
2421725 Animesh sold some articles at a Gain of 10%. He spent his total sale proceeds to purchase same articles. This time,

while selling them, he incurred a Loss of 10%. His Loss or Gain in the transaction was

HTAAT A 10% e W T TEQHT T dT| I8 JY=AT [&6hT & For F6T F T2 I IR & GATA GG 6| oHfhed 8 IR 3T Teg3it
FI S T 3H 10% @it g8, ot A 7 S w71 gt <A A

1% Loss
A

1% gifer

1% Gain
B

1% =T

No Profit No loss



ERCIE e RIE]

2% Loss

2% gifer

Correct Ans : A

Q.No: 178
2421751 \hat sum of money must be given at simple interest of six months at 5% per annum in order to earn Rs. 150

interest?

F. 150 =TT UIed @) & [olT et T3 &1 6 Fl & foIT 5% 41T &7 ¥ TTEROT s4T57 O ST GI9T? _

Rs. 5000
A

®. 5000

Rs. 6000
B

¥. 6000

Rs. 10000
C

%. 10000

Rs. 15000
D

¥. 15000

Correct Ans : B

Q.No: 179
2421841 A certain amount of money is divided between A and B in the ratio of 5:6. If B gets Rs. 360, then the amount is-

FE YR A MR BF 9 5 : 6 F U A falka &1 ot B1 afe B # 360 &, @, df oI | -

Rs.660

660 .

Rs.560

560 ¥F.

Rs.680

680 ¥.

Rs.580



580 ¥.

Correct Ans : A

Q.No: 180
2421844 Three numbers are in the ratio of 5 : 7 : 12. If the sum of the first and the third is greater than the second by 50, then the sum of the

three numbers is-

TTIEE 5 ¢ 7 : 12 F 3quid H ® e I I vgaht qur HuS Temait &1 A, gud W | 50 w8, d i e & A -

125
A

125

120
B

120

95
C

95

85
D

85

Correct Ans : B

Q.No: 181
2421926 Find the ratio in which rice at Rs. 7.20 a kg be mixed with rice at Rs. 5.70 a kg to produce a mixture worth Rs. 6.30 a kg.

I U HY I1d P ol 7.20 30 Ufd fraoms & =g &1 5.70 $08 Ul fearm a1a add & 1y AR 6.30 $08 ufd feanm & fae 9
fiysor Y QU b ST el 21

4:5

Correct Ans : B



Q.No: 182
2421970 To cover a certain distance with a speed of 72 km/hr, Ayushi takes 18 hours. If she covers the same distance in 12

hours, what will be her speed?

HEr S 72 el /AT M WER A TA W 8, 0 ARaa gl A o e § 18 e T aag ol ¢l A ag adr gl 12 e A ag o
ot 3| It 4T gre?

72 km/h

72 TeraT. /aer

48 km/h

48 faT. /ger

108 km/h

108 feaT. /Eier

180 km/h

180 ferdT. /ger

Correct Ans : C

Q.No: 183
2422007 Satyam and Shivam can do a work in 10 & 15 days. Both together start the work. After 4 days Satyam left the work & rest work done by
Shivam. In how many days the total work completed.

T IR fR1aw & 1 10 9 15 o H = T4 §1 I S Y TE IR 21 4 FaT 918 IOm w1 $ SIS 31 7 IR A9 w1 1 Rraw g FRar g1 e
ot & o1 BT T gRme

10 days
10 f&7
9 days
9 f&7

6 days

6 fa=1

12 days

12f@

Correct Ans : B



Q.No: 184
fFrefifEd § 4 AR & SH-T 999 & 2

A o Tm

B g8 WY

C qgdife 99
D gt HTa THRT

Correct Ans : C

Q.No: 185
Efafad & § S1F-91 Usg I IUW BT T IR 6T ST T 82

A T
B I
C ERiCo)
D I

Correct Ans : C

QMo 186 e & ¥ srgamm vsg &1 999 PIT-
A T
B T
c e
D T

Correct Ans : B

.No: 187
Qo AT /UTEH F T & R R 51 gRT TR T BT YT 31 e 8, 59

A I«H
B qeH

C =

D I«H, 7 TH 3

Correct Ans : B

Q.No: 188
Frfied & 9 e 1 yafuar s @ 82

_ YoYqE% §9M Ped Bl



B ATPR
c TR
D T

Correct Ans : B

Q.No: 189
AT # & <oq-gm “geebl- gachl” b Hel oY U b1 FG BIoIE-

A e - |

B RIET — IO
C 3afer - & IO
D FH I9 - &7

Correct Ans : D

Q.No: 190
fFEfafea & ¥ o ad=t ard wsg &1 799 Fifvre-

A THATYR
B SHTAATHR
C frefrs
D gHudt

Correct Ans : D

QNI i ety o 3
A Safy

B el

c TSl arelt

D EE)

Correct Ans : D

Q.No: 192
refafed & § Wi wes &1 797 Bifon-



C g

D faemera

Correct Ans : C

N st o s s e e
A g

B ECEE]

C REEER]

D W

Correct Ans : C

QNo: 194 WHFTHEIT AR IR D
A @
B @
c TR
D o

Correct Ans : C

QNow 195 e T B B
A o4 B

B Fal a1

c o od waf I Bt

D uTg

Correct Ans : D

Q.No: 196
fFfafaa o ¥ WRa a9 BT T8 Bife-

A iy ga 3R e ST W@

B fora 39 o Y @ 5 I A w8 I

BT D B



C St ST S 3 & Bremi

D & gRER WY SATIR ST 16T F

Correct Ans : D

Q.No: 197

frefefed % 9 g 9 &1 79 -
A Ig ura ¢ 41 5 goa
B 4% & o pewIal 3 we o
c et T ST SR 3T T WY v B
b e 3 BHE | T 5 YRT ST 3T R

Correct Ans : B

GNP oot 1 fae fore 1 i, o, e i ot 1 e e e A
A fremfaye s

B SR farg

c wrHafeR™ R

D FHFARES g

Correct Ans : A

Q.No: 199 Preffad & @ el "geR-TR & giH Bl o &2
A S | Hut fserm
B fre Smret g
c SUTERIS a1 ST
D w7 &t wifa e

Correct Ans : C

Q.No: 200 Frefad o @ e "ol 23R 7 3 AR g ) Bl Fer BT @ o 22
A 2t amet aTueH BT 31
B 3T Y 71 SFR g P10 &1

c 3par et AR g g1



D it ave @Y e 7 g1

Correct Ans : B
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Q.No: 1
2412718 The length of Gunter’s chain is -
TR 3 B T B ¥
66 feet
66 BT
76 feet
76 BT

100 ft
100 Wie
125t

125 ¥ie

Correct Ans : A

Q.No: 2
2412719 Plane surveying is done on area of less than-

1 3§ B Ewd TR TR Fdar T S @ -

50km?

A
50 oif it
250km?

B
250 1 fwft
500km?

c
500 i feft
1000km?

D
1000 wf Rl

Correct Ans : B

Q.No: 3
2412720 Which of the following is not a chain?

e & @ 1 o 9 T @2

Revenue

Metric

T

Arrow
Ciid
Gunters
T
Correct Ans : €
Q.No: 4
2412721 Revenue chain is divided into -
o 3 v g @ -
16 links

16 s@A
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https://mppeb.cbexams.com/MPPEB_Cand_Objections/KKRAdminpanel/logout.aspx
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32 links

B
32 @
64 links
c
64 sE@A
128 links
D
128 sEd

Correct Ans : A

Q.No: 5
2412722 Invar tape is made up of -

TR 20 & A ¥

Steel and Nickel

A
e wd frva a1
Wood

B
aHS BT
Polyester

c
TefiteR &1
Nylon

D
A BT

Correct Ans : A

Q.No: 6

2412723 Angle of land slope is measured by-
¥y G BT HI0T AT A1 -
Pedometer

Aeidier gt

Clinometers

WEUrATATY ERT

Piezometer

grawTdt gRT

Compass
HHI GRT
Correct Ans : B
Q.No: 7
2412724 One horse power is equal to -
T i e IR A B -
10° watt
10% dic &
106 watt
108 afc &
746 watt
746 dic &
746 kilowatt

746 felt afc &

Correct Ans : C

Q.No: 8
2412727 First Modern internal combustion engine was invented by-



o aiyf s Gg o & Ffar §

James small
A

W A

Elon musk
B

T S

Rudolf Diesel
C

Fefer St ¥

Nicolaus otto
D

e aitet &

Correct Ans : D

Q.No: 9
2412728 The carburetor of an internal combustion engine is used to mix fuel with -

e 3 3 forud wr forswr 3 sffaRe ag o F PIaRCR BT SR b o @ 2

Coolant
A
Ricecd
Air
B
T
Water vapour
c
e
oil
D
@

Correct Ans : B

Q.No: 10
2412729 Central Institute of Post Harvest Engineering and Technology (CIPHET) is located at.

Flta Ferd Iw it wd MeffE (Fwgenh) dem Sufka @

Mysore
A

Karnal
B

AT

Ludhiana
c

Lucknow
D

TGS

Correct Ans : C

Q.No: 11
2415400 Gaseous Hormone in plants is called-

elf & Rfta gt FEaa @
Phytochrome
A
wIEHN
Indole Butyric acid
B
S fef e
Ethylene
c
JiECies
D

Correct Ans : €



Q.No: 12
2415401 Name the biochemical pathway where the biosynthesis of folates and aromatic amino acids takes place.

I SRS T P T e 9ot wiie R Wake s snd o1 Sawawo g 81

Shikimic acid pathway

A
Tufrfrs ofirs mud
Embden-Meyerhof-Parnas Pathway

B
TR ARG TR T
Gluconeogenesis pathway

c
TR ARt
Glycolysis pathway

D

TATgSATSRE Art

Correct Ans : A

Q.No: 13
2415402 Sterols which is less prevalent in plants

R S helf F 39 vaferd §

Stigmasterol

A
e
Sitosterol
B
Rrerra
Cholesterol
c
Eacian
Campesterol
D
PR

Correct Ans : C

Q.No: 14
2415403 A pentasaccharide that contains four units of galactose and one unit of sucrose, occurs mostly in leguminous plants, which among the following is the example of pentasaccharide sugar

T TeraRiEs RRE e 31 TR Sl R GHIW B U P Bl 8, ek Bellar qidl F G 8, o Frafiied § 9 ferddags 9+ @ e 8

Maltose
A

e

Verbascose
B

=W

Raffinose
[

et

Pyranose
D

TR

Correct Ans : B

.No: 15
2415406 Photosynthetically Active Radiation (PAR) is the portion of the light spectrum accessible for photosynthesis in green plants. What is the range of spectrum of light in terms of PAR?

T HRANS FY Y Wb fAfF0r (PAR) &R el H veTRr Ao & forg gard vt WagH 1 AW 31 PAR F Ha H WoT & WaeH @71 i @ 82

200 - 400 nm
A

200 - 400 TATH

400 - 700 nm
B

400 - 700 TEH

750 - 900 nm
C

750 - 900 TAgH

800 - 1000 nm



800 - 1000 TTTH

Correct Ans : B

Q.No: 16
2415410 The phytotropins are specialized class of auxin transport inhibitors which show high affinity with

HIEII i gianid gafefes & fafe of & <t % WY I et R 1

Intrinsic receptors

A
et frip
Parascorbic acid

B
e TS
Naphthylphthalamic acid

c
Afrawuee s
Akinetes

D
wfrew

Correct Ans : C

Q.No: 17
2415415 In plant tissue culture, haploid plantlets can be obtained from

e S Wae H, O el o oI e o e 8-

Callus culture

A
e wemf
Another culture
B
I HP cl
Shoot culture
C
T PR
Tissue culture
D

Faw HadT
Correct Ans : B
Q.No: 18
2415417 Name the chemical which is used for protoplast fusion

I T T 7 ST T ST dieiare Sera & fig faa s &

Polyethylene glycol

A
PN .
Agar
B
SR
Sodium chloride
C
AfEam RS
Mannitol
D
wfaera

Correct Ans : A

Q.No: 19
2415419 The growth movement in response to touch, or contact of a foreign body, in plants is called

et 7 et faet ffs & woef an W @ v A of 91 1 e 2-

Tendrils
A
Thigmotropism
B
e
Chemotaxis



FurRfRTE

Thigmotaxis

R

Correct Ans : B

.No: 20
2415422 During the process of photorespiration which one of these are synthesized

BT 4 BT T & R S @ et wrwew g 82

NADPH
A
et
ATP
B
@
COy
c
COy
Sugars
D
BT

Correct Ans : C

.No: 21
2415451 Which program help the recovery of endangered species by preserving the existing gene pool and preventing inbreeding

P T HRIHH AT S 0 B W = 3R TS $ b v vt  aget F Hag Hear &

breeding Programme

A
eI PRI
Reforming program

B
[UR FriwH
Recharging program

c
Franfifn wrdww
Conserving program

D

Rutukacea

Correct Ans : A

Q.No: 22
2415452 A cross is made between two homozygous parent plants, is called monohybrid cross. In this cross genotypic ratio is

3 TGS o Ol & f ve G0 S o 8, R AT B ded 81 59 iy SHieiie U § §

1:2:1
A

1:2:1

1:2
B

1:2

1:1:2
(o}

1:1:2

2:1:1
D

2:1:1

Correct Ans : A

Q.No: 23

2415455 Golden rice is a genetically engineered variety of rice developed by inserting a gene from

TieeH TgH F1ad B ARG T TR Fw I RR A ForaHad_ JeeEeaR

maize and bacteria

Wt AR Aadfear

rye and fungi

and a gene from found in soil

T o ST R R w21



¢ 3R Tawm

maize and rye

T AR T

maize and fungi
T R TS
Correct Ans : A
Q.No: 24
2415456 The process by which particular homozygous plant varieties can be selected for creating next generations.

g Wisean foraes gRT st didt & fmfor & forg ks wmgrmsh def &t foredt o1 =7 fovan o wepar 21

inoculation
A
icacaud
Selection
B
gq
inducing
C
e
preservation
D

e

Correct Ans : B

Q.No: 25
2415457 Which was first Indian dwarf amber grained variety of wheat made from Sonara 64 by y ~gamma rays

T RN ERT HART 64 ¥ Pfifd g #1 veeh wRdta @ TR o et fre i W ot

sona
A
|
Kalyan
B
Fearor
Sharbati sonara
c
TREH FAR
Sonalika
D
Wt

Correct Ans : C

Q.No: 26
2415461 Which one is the first crop plant whose whole genome was sequenced in 2010.

g Gad U B 1 € Rt g1 S 2010 F i forar mr o

Oryza australiensis (Australian rice)

A
i sifeferefRr (sifRfer gw)
Oryza sativa (Asian rice)
B
Sif &fear (gfRrarg )
Oryza glaberrima (African rice)
[
it AR (et arae)
Oryza longiglumis (New Guinea rice )
D

e wifRrafe (=g frft amaen)

Correct Ans : C

Q.No: 27
2415462 Pusa Lerma is an improved variety of

o i frast g frw 32

Wheat



Maize
B
HFPT
Soyabean
C
Wi
Rice
D
|

Correct Ans : A

Q.No: 28
2415463 A hybrid is

T IR T

Homozygous

THGHS

Mutant

Faafadt

Heterozygous

Fererergrerht

Heterogenous

Rowdfre

Correct Ans : C

Q.No: 29
2415467 Which term leads to rapid formation of new species through the development of multiple sets of chromosomes

P T X OGBS §e & o S HeAm I 4 v & aof F Mo $1 IR I

Polyploidy
A

urefteiEt

Polysomy
B

arefedt

Disomy
C

fewindt

eugamy
D

Correct Ans : A

Q.No: 30
2415471 When pollination and fertilization occur in unopened flower bud, it is known as

ST Gl g et & TR R e @ 8, A @ EESEE ik

Cleistogamy

A

et

Oligogenic
B

Aferiefe

Anemophilous
C

IFEA

Protogyny
D

e

Correct Ans : A

Q.No: 31
2416107 Who among the following is known as Father of Tillage



Froffed # § 58 gar @1 o 7 S

J B Lawes
A

< dtwife

Jethro Tull
B

Sl gew
C

ferferr

Blackman
D

AT

Correct Ans : B

Q.No: 32
2416108 'Theory of humus’ was explained during:

TIHY BT RIGT P I T o

1809
A

1809

1819
B

1819

1919
o}

1919

1909
D

1909

Correct Ans : A

Q.No: 33
2416109 Triticale is a cross between

R fare & il G ol B

Wheat and barley

A
g o ot
Wheat and oats
B
g ote o1
Barley and rye
C
o o wr§
Wheat and rye
D

g o T

Correct Ans : D

Q.No: 34
2416110 Agro-climatic regional planning was initiated in India with the inception of

WRA & F-Srerarg & deEn F6 F R F Y TS o Ul

First Five year plan

A

wo vaedfy e

Grow more food Campaign
B

3fre @ Iuwy

In late eighties
c

It F T BT I

The Seventh Five year plan
D

ATt vt derT

Correct Ans : D



Q.No: 35
2416111 The abiotic component of agro-ecological zone comprises of

Fiv-uRfRfy @t & & spifew vow # Fafafed wive §

Light, water and animals

A
T, T SR U
plants and soil org.
B
afre, e o gt & Sftary
Non-living things like water, minerals, salts, atmospheric gases, energy like light, heat and stored energy
c
e, e, T, gt e St foffa H, g, w i wala et SRkt et
Water, wind and plants
D

T, & ok I

Correct Ans : €

Q.No: 36
2416112 Ability of a system to manage the resources of agriculture to satisfy changing human needs, while maintaining or enhancing the natural resource base, while avoiding environmental degradation is known as

T YUTTel} &1 UafaRul & eR & g9 IR Wipfis T & SR B ST 3G T1 9G & GIY-TY Faddl AT Sexdl S QR B & o S & Il &1 yded o 3 &al S 69 1 J S o1l 8?2

A

T PG Jumedt

a productive system
B

TH IS Fomedt

a sustainable system
c

TH R yoredt

high input agriculture
D

I 3G g P

Correct Ans : C

Q.No: 37
2416113 Crop mixtures have proved most dynamic, biologically under

e B My S U A Ga i fharshe wHifdd gu E,

Irrigated conditions

A
fifer Ruferat &
high soil fel ity conditions
B
Tt 3t 3= Ifan Bt Rufa &
water stress conditions
c
v qe i Rufar &
large holding conditions
D

3 g ot fRufa &
Correct Ans : C

Q.No: 38
2416115 Which one of the following pairs is not correctly matched

Fraffea 4 3 frw 7w &) 9 e 3 T fiveman man @

Relay cropping: Sowing Berseem In Rice Crop Prior To Harvest

A
A wae: Herd A Ted U B wHa § ST B gard
Intercropping: Sowing Wheat After Rice
B
SR-BE: U F a1E N B gar§
Multi-tier cropping: Coconut - Pepper- Cacao-Pineapple
C

TE-FI A ARGE - Freft - Se-sFES

Sole cropping: Potato



T B 3T

Correct Ans : B

Q.No: 39
2416116 As per the principle of crop rotation, pulses should be included in crop rotation as

T BV $ Rigid F HFER TE B B b H ... F R e far s e

They increase the total pulse production

A
39 F T I A I3 PR §
They maintain the soil fertility by fixing atmospheric nitrogen
B
q rgrEey Aggiv B fRR 73 gt & sdvar s w@a &
They are short duration crops
c
AW oafy A wud §
They increase the yield of the succeeding cereal crop
D

A T1e A 91 SaTeht TS 9 Baa P U A i PRa ¥

Correct Ans : B

Q.No: 40
2416118 Iron was proved to be essential for plants by:

W B ey gr1 et 3 g srawaes o faan mar?

E. Gris
A

€. B

C. Sprengel
)

. Site

H. . Evans
c

. . ga

N. I. Vavilov
D

. i, arfaea

Correct Ans : A

.No: 41
2416143 In Soil Science “Micelle” stands for

e fara 7 ferar @ o @

Colloidal particle carrying positive charge

A
AT T a6 ST AT HieiigSt S
Colloidal particle carrying negative charge
B
BUTHS °T 96 P a1Q Brarget S0
Micropores in between textural particles
c
T1Ge Bl & & § wrgwiod
Negatively charged silt particles with high CEC.
D

I W F Y TORTES FU | 961 T T MG BT

Correct Ans : D

Q.No: 42
2416145 Triazines in soil are degraded by:

T 9 2T 1 &R 3 g A €

Azotobacter

T

Aspergillus sp.

TERra T,



P.S.B.

foad.

Correct Ans : B

Q.No: 43
2416573 The available water holding capacity (AWHC) of sandy loam soil is:

qgE ame irdt # ot YR e (TsseguE) uié i @:

0.20 g/ cc
A

0.20 g/ cc

0.16 g/ cc
B

0.16 g/ cc

0.18 g/ cc
c

0.18 g/ cc

0.11 g/cc
D

0.11 g/cc

Correct Ans : B

Q.No: 44
2416574 Capillary and non capillary pores must be in proportion for good crop production:
] A & IeH B Y HUe R A-duerd 5w S H g wAfRT:
25:75
A
25:75
50:50
B
50:50
75:25
C
75:25
80:20
D
80:20

Correct Ans : B

Q.No: 45
2416575 Soils with Bulk density 1.325g/cc and Particle density of 2.65 g/cc consist of a total porosity of:

i ¥ 1.325g/cc 3R 2.65 g/cc $ B T aTe It A Pt Tl Bt 2:

30%
A

30%

50%
B

50%

40%
C

40%

60%
D

60%

Correct Ans : B

Q.No: 46
2416627 Zinc, Boron, Mangenese, Molybednum, Iron and Copper are called micro nutrients, because they are

i, dRH, AW, MRS, S1ERA 3R IR B YA G e Hel ol 8, Flid 3 &



Nutrients required for micro-organism growth

A
& sal & e & Rig smavas divw o
Essential nutrients but required by plants in minute quantities
B
TS WS T AfPT el FRT aw 71 § Tawad
Nutrients of microscopic significance
c
Y&A HEd & NP d
Nutrients which are not e3ssential for plant growth
D

Qo a st W A R F g srazae & ¥

Correct Ans : B

Q.No: 47
2416629 Number of land capability class as per Soil Survey of India is:

HRT & HaT A& I TR HfEY & W Seia @il B e 3

12
A

12

10
B

10

8
c

8

6
D

6

Correct Ans : C

.No: 48
2416631 Addition of excess quantity of available phosphatic fertilizer to soil may affect

Tt A Sucey b Idve B oifie AR B e § wuIfad € wadr &

i of iron and i
A
3R 3R TegHifran @ siftrean
Reduced Zn availabil
B
PH Zn IYARAT
Reduced availability of Ca
c
Ca t FH IJuwET
Inhibition of growth of
D
Aol & e § verae

Correct Ans : B

Q.No: 49
2416638 Conversion of NHyto NO; in soil is brought about by

THET # NH, &1 NO, 3 IRad= e car elar &

Nitrosomonas

A
AECIHA
Nitrobacter

B
Pseudomonas

[«

RIS
Rhizobium

D

REsiiees

Correct Ans : A



.No: 50
2416744 Indicator plant for boron deficiency is:

SR @ i F fore e dien 3
Potato

RS

Sugarbeet

THR

Sunflower

et

Corn

g

Correct Ans : C

Q.No: 51
2416772 Rice is believed to be originated from:

T 3} T AR T & T S 2

South east Asia

A
o g e
India
B
WA
Australia
C
sifeferar
China
D
&=

Correct Ans : A

Q.No: 5
2416773 Recovery phase or transplanting shock of transplanted rice is around

VARG YT BT GUR TR0 31 YRV STHTd BT 3fafdr Jurs 5t aria & @

2 - 4 days
A

2-afF

4 -10 days
B

4-10feT

10 - 15 days
c

10 - 15

15 - 20 days
D

15-20 R

Correct Ans : B

Q.No: 53
2416774 Country which is pioneer in hybrid rice is :

W 4 & I H o oot A @

China

India

Japan

Philippines

from the date of transplanting:

@ e &



frefdte

Correct Ans : A

Q.No: 54
2416775 Days required for transplanting rice seedlings under dapog nursery is:

START eI 3 Sieid o B F B R B ol 1 e Bl @

10
A

10

14
B

14

21
C

21

28
D

28

Correct Ans : B

Q.No: 55
2416776 Number of leaves considered optimum for transplanting rice seedlings is

o1 3 AU F AT SrggaaH A o areht uRw @ e B-

1-2
A

1-2

2-3
B

2-3

3-4
c

3-4

4-5
D

a-5

Correct Ans : D

.No: 56
2416778 Khaira disease in rice is due to deficiency of:
o # B I ot et R g @
Zn

Zn

Fe

Fe

B
Correct Ans : A
Q.No: 57
2416779 The main objective of intercropping is to
SHRE BT T I §
Help the main crop grow better

TCI FHE FI IgaR &1 § ST F Weg HAT

Improve the soil fertility
fordt ot Idvar & guR FE

Check soil erosion



e & Pera A Wi BN

Get additional crop and income
fafad wae S 3T T B
Correct Ans : D

.No: 58
2416780 DAPOG method of crop raising is associated with

B I F DAPOG UGl Taifird §

Seed bed preparation

A
o TR AR HY
Nursery raising without soil
B
T ) & RIS
Intercultivation
c
SaPphr
Weed management
D

WIUAAR FEUT
Correct Ans : B
.No: 59
2416781 Which of its husked dal is used to mix with rice flour for preparation of idli and dosa:

TS SR S T F R T R 5w 1w 3 o Pt a7 I aad & ome F frawn S 2

Greem gram

A
A
Cow pea
B
wifear
Black gram
c
Hran AT
Gram
D
Eill

Correct Ans : C

.No: 60
2416782 Pulse crop gown for grain, fodder and green manure is:

Y e BHE B 3, TR IR &4 |E & e IR o @

Lentil
A
LS
Redgram
B
NIGEER!]
Gram
C
Eill
Cowpea
D
wifar

Correct Ans : D

Q.No: 61
2416823 Global warming is mainly due to increase in concentration of

e aTfH e Y ¥ T sl § e & HRU T

co,

co,

02



02

NO,
C

NO,

Hz
D

Hz

Correct Ans : A

.No: 62
2416824 Which of the following gases has 20 times more potential for causing global warming than CO»

Frofifed § g 7§ co, # qa & Teilaa ot dar A FT & 20 T SRS §

S0,
A

S0,

NH3
B

NH3

CHy4
c

CHy4

N20
D

N20

Correct Ans : C

Q.No: 63
2416825 What type of radiation is trapped on earth’s surface as a result of greenhouse effect

PRI THTd & IRUTHEGEY geft B T8 W 5 FHR P RfHRor ta S @

UV rays
A
TR ot
X rays
B
e fopvor
Gamma rays
C
T fanvot
Infrared rays
D

e vt

Correct Ans : D

Q.No: 64
2416826 In India, the highest sunshine hours per day is in the moth of

uRd ¥, ufdl R e aifire yu @1 g & TR A D §

March

April

June

Yl

Correct Ans : C

Q.No: 65
2416827 When Industrial chemicals combine with condensing vapour, it results into

e AN THTE S 9T S WY Fed 8, A 39T oy g &



Global warming

A
Pesickasicas )
Acid Rain
B
3w aut
Basic rain
c
gt e
Green house effect
D

Riscaiicy
Correct Ans : B

.No: 66
2416829 When the annual rainfall is less than normal for a prolonged period over an area, it is considered as

w1 fordt &1 et orafil & fore aftfer awf wmrr & @5 gt 8, ot SR A S &

Agricultural Drought

A
P
Hydrological drought
B
TTEgratsd @
Meteorological drought
c
wHrew wedt gEr
Seasonal drought
D

et @
Correct Ans : €
.No: 67
2416830 Short supply of water to meet the demand for crop duration is called

T B 3l F AT B R B & ¢ o B Bw Mgl B et e @

Hydrological drought

A
TR T
Meteorological drought

B
Hrew wedt gEr
Agricultural Drought

c
P
Dryland agriculture

D

T o Pl

Correct Ans : C

Q.No: 68
2416831 The moisture index is maximum in

< ) i oiftpad 3

Perhumid

g

Arid

T

Semiarid

A

Humid

™

Correct Ans : A



Q.No: 69
2416832 When a prolonged drought results in drying of available water sources like streams, tanks, reservoirs, wells etc., it is called as

S Y T 7 Y@ S URUTRGEY JuTe 9 Hid o URTY, I, SR, $U 3f GE 9 €, A 9 51 Fel ol §

Agricultural Drought

A
P
Meteorological Drought
B
wHrew wedt g
Hydrological Drought
c
TTEratmd @
Seasonal Drought
D

wree @

Correct Ans : C

.No: 70
2416833 Which one of the following gases contributes maximum to “green house” effect

FrafifEd 3 § 9 @ e i grew v F sfrean dar & ¥

co
A

co

co,
B

co,

CHg
c

CHa

N20
D

N20

Correct Ans : B

Q.No: 71
2416927 Method of controlling aquatic weeds is termed as

Sl @RudaR) @ Frifid a3t R Feard 8

Flooding
A

M@

dredging
B

Frardfur

mulching
C

Taar

solarization
D

o

Correct Ans : B

Q.No: 72
2416928 Flame cultivation is used in which of the following crops

e St a1 Sud Faffed § § e wwa F R s &

Tomato
A

THIRY

Potato
B

EUCS

Brinjal
C

F

Chillies



forf

Correct Ans : B

Q.No: 73
2416932 Average loss of agricultural produce due to weeds in India is estimated to be around

YRA & WRUGIR] & HRO Y ITS T 3G JHE T 819 BT A ©

33%
A

33%

45%
B

45%

43%
C

43%

23%
D

23%

Correct Ans : A

Q.No: 74
2416933 Weeds which are monocot in nature belong to the family

TRUTER W T U € €, Ueia B e &

Asteraceae
A
R
Cyperaceae
B
wEeRE
Fabaceae
C
et
Poaceae
D
et

Correct Ans : D

Q.No: 75
2416939 Weeds which are of no use and does not have any economic value are known as

3 ERUAR S et o & T B R Rt B s e 7 B, Feem §

Relative weed

A

ATl WRUTAR

Absolute weed
B

of ERuTaR

Rogue weeds
c

T waw

Exotic weeds
D

ot mram

Correct Ans : B

Q.No: 76
2416940 Classification of weeds on the basis of reproduction was given by

TS & YR TR WRUAAR] P vl s g1 e T u

Fischer
A
iz
Muenscher
B
TERR
Tull



@
Garner
Wi

Correct Ans : B

Q.No: 77
2416941 Weed seeds which are difficult to separate out once mixed with crop seeds are known as

TRIFIR F et 2 U aR B F o B A e IR St SR Wk B 8, dean §

noxious
A
FFERS
objectionable
B
s
poisonous
c
fadem
parasitic
D
TR

Correct Ans : B

Q.No: 78
2416942 Weed of a family having angular stem with glossy leaves and prominent mid-rib

THHER TR SR T Hed TR & WY HIiy 7 9 WRUGAR 3 I 8-

Amaranthaceae
A
B
Fabaceae
B
el
Cyperaceae
c
wTgaR
Poaceae
D
b

Correct Ans : C

Q.No: 7
2416963 Loose smut in wheat can be effectively controlled by

g H ol e 31 e gr o U A Frifid e o webat &

Crop rotation

A
THA BT FfFHROT
Soil tr with
B
IR-yorehiTa FawaTt F A g BT STER
seed with i
c
oI FawARit & Wy die SR
the crop with
D

A R BRI o1 fgHa

Correct Ans : C

Q.No: 80
2416965 Which one of the following is the correct mode of infection in Ergot of bajra (pearimillet)

Froffad § § i AR (Foeh) & orReTe F HHAv BT HE AT ¢

Shoot infection

e TRA

Local infection of blossom



T BT R HHAT

Seedling infection

ST HpHOT

Systemic infection

WO HHH

Correct Ans : B

Q.No: 81
2417029 "Protective food” includes

R o H v §

Fruits and vegetables

A
wa 3R wferat
cereals
B
ST
Fruits
C
wE
Vegetables
D
wfewat

Correct Ans : A

Q.No: 82
2417030 Richest source of Vitamin C

fefer <t 1 99 Igs Hid

Aonla

Mango

Citrus

wrEeH

Correct Ans : A

Q.No: 83
2417031 Modified stem of Banana is

1 I 7 &

Sward sucker

A
U yfy e aren
Rhizomes

B
g
Water suckers

c
it W aren
Corm

D
Lot

Correct Ans : B

Q.No: 84
2417035 Which country has the highest production of fruits and vegetables

el AR ST BT o A I p 3% F g 82

India



UsA
B

it

China
c

Eis

Brazil
D

e

Correct Ans : C

Q.No: 85
2417036 Air layering is most common method of propagation in

TR AR TR P G P T B

Litchi

Gl

Aonla

Guava

HEG

Correct Ans : A

Q.No: 86
2417037 Which of the following is known as ripening hormone

Frafifed & & g ue aren g weT S §

R (GA3)

Auxin

SiffRTT

Ethylene

ot TS (ABA)

Correct Ans : C

Q.No: 87
2417038 The part of plant on which grafting is done is called

G T 78 WIT R TR W 6 Sl 8, e &

Root stock
A
wE ©id
Stem
B
@
Scion
[«
L]
branches
D
it

Correct Ans : A

Q.No: 88
2417039 Bending is practice in guava to encourage



G P e & Rig ared B offae @

Better sprouting

A
JFR PR
Better ripening
B
g TS
Better quality
c
g T
Better fruiting
D

JER B

Correct Ans : D

Q.No: 89
2417047 Fruit is basically a

el BT e ¥ &

Ripened seed

A
T g fiS
Ripened ovule
B
TeHT g3 SSTHR
Ripened ovary
c
TPT G ST
Ripened calyx
D

T g3 HewT

Correct Ans : €

Q.No: 90
2417048 Technique which is used to disinfect seed bed

Aepliep ot i ) FerRfed H & Rig i @ o @

Scarification

A
Ruicau
solarization

B
o
stratification

[«
wR-famma
alinization

D
Eroau

Correct Ans : B

Q.No: 91
2417162 The major activities of agricultural extension division Are..?

P IR TurT v fafafia g2

Technology assessment.

A
e geaie
Farming
B
eI
Development of skill.
c
g R
Entertainment
D

FereTHT

Correct Ans : A



Q.No: 92
2417163 Which is the first step of extension educational process?

TR TSR WIGE T U5l @R B 9 87

Collection of facts

A
BT TS|
Cultural activity
B
TRufert @1 ferergor
Doing by learning
C
& @ affr
Deciding on realistic objectives
D

TyrfaTdl IEzat wR ot am

Correct Ans : A

Q.No: 93
2417164 The latin roots for the word ‘Extension”

"SR Teg F I A g

Ex and tension

A
T 3R T
Ex and ten
B
TR AR
Ex and lucco
C
T R g
Ex and termo
D

T o et

Correct Ans : B

Q.No: 94
2417165 Farmers first’ model was put forwarded by

ol P ued Asa d GRS @

Robert Chamber

A
e FR
Readdy
B
B
Knapp
C
A9
Berlo
D
@t

Correct Ans : A

2417166 The main mode of extension in the ‘farmers first’ model is

BT B HisT TR 31 39 S, ?

Farmer to farmer

A
Foram @
Agent to farmer
B
e @ frar
Research to agent
C

T § ol

Farmer to scientist



e & 3t

Correct Ans : A

Q.No: 96
2417167 Andragogy’ is for

gt Hfmd
Children
A
T=
Older person
B
Ta
Male person
C
9w
Female person
D

frdrar wei

Correct Ans : A

Q.No: 97

2417168 The term ‘Pedagogy’ literally means

FRiefurI Sz 1 WM o &

School dropout

A
T fRian
Adult learning
B
quvs fan
Balvadi training
c
qaardt ¢
Aganvadi Training
D

Jrarst g

Correct Ans : B

Q.No: 98
2417170 First line demonstration was launched by

T TTE 1 feTe R e T

Extension education

A
e fRren a1
Physical education
B
iR e grr
Anthropology education
C
Gaiareft Rra R
Demonstration
D

wfaTe grRT

Correct Ans : D

Q.No: 99
2417171 James Stuart associated with

SR e IFRE

Extension education

e fRram

University extension

Rryferemer fawam

Ancient education



TifRide TegFE

Mordern Education

AET TSI

Correct Ans : A

Q.No: 100
2417174 Who is father of extension in India?

URA H TR BT D H 82

Robert Chamber

A
faé Faw
A. Reddy
B
o
K.N. Singh
c
.. Rig
Berlo
D
@t

Correct Ans : C

Q.No: 101
2413595 What is approximately share of India in the global agri-trade?

AP PR-UR & 4R H1 e T foper 82

2.5%
A

2.5%

4.5%
B

4.5%

8.5%
C

8.5%

9.0%
D

9.0%

Correct Ans : A

Q.No: 102
2413598 In India, Tank irrigation is more common in which of the following regions:

YRd & FrgfifEa §  fbw & #, qrat (2%) I R sifve yefd @:

Rocky plateau regions with uneven and highly seasonal rainfalls

A
3T 3R Sreafire Hiwedt auf ard gz vordt &
Regions with presence of perennial rivers and plenty of rainfall
B
aRewRA At ok ygR auf ard &=
Arid and Semi-Arid regions with scanty rainfall
[«
&4 qui A b SR d-3w &
Coastal regions with regular rainfall
D

Fraftra auf ard adta &=

Correct Ans : A

Q.No: 103
2413600 Which of the following is not a category of seeds?

Froffad & § o @il o1 we o 71 82

Foundation seeds

BRI i

Breeder seeds



e f
Certified seeds
wefor ot
Edged seeds

YRR (TS)

Correct Ans : D

Q.No: 104
2413603 Which among the following revolutions is related to ‘fertilizers?

Froffad & § $-@ Hifa Sdver § Wit 82

Silver Revolution

A
Tord e
Pink Revolution
B
T it
Grey Revolution
c
A8 wifer
Golden Revolution
D

wauf wifa

Correct Ans : C

Q.No: 105
2413604 Which of following is a cash crop?

Fraffed wael § § Tod wHa B 9@ 87
Rice
A
EICC)
Wheat
B
Sugarcane
c
REl
Tea
D
g

Correct Ans : C

Q.No: 106
2413605 Pusa hybrid 4 is a variety of:

Potato
A

S

Tomato
B

TR

Banana
c

Far

Brinjal
D

¥

Correct Ans : B

Q.No: 107
2413608 Minimum Support Price (MSP) was introduced in India in which year?

R H an we e (qreed) fe o e faar mar a2

1962



1962

1965
B

1965

1969
o}

1969

1975
D

1975

Correct Ans : B

Q.No: 108
2413611 What is the main purpose of buffer stock in India?

HRA § TR €IS P 58T I 1 37

To reduce food price fluctuations

A

T FHEl ¥ IAR-T¢1d Y FH ST

To save food grains from environment threats
B

TS Y ATaRr ¥ TRl & g

To provide farmers a place to save food grains
[«

frarit & fire e a9 # STE Iue FRAT

To increase the productivity of food grain
D

T B IAGHAT TG

Correct Ans : A

Q.No: 109
2413612 Approximately what fraction of India's total edible oil demand is met through imports?

YRA & W A4 B A HiT & A et R Sl & gR1 Q1 b o 87

20%
A

20%

30%
B

30%

50%
(o}

50%

60%
D

60%

Correct Ans : D

Q.No: 110
2413613 What is India's rank in the global groundnut production?

4 F e Iae F YR BT S 9 R 82

First

ugar

Second

Third

Fourth

st

Correct Ans : B

Q.No: 111
2415307 Farmers can prevent and slow down soil erosion by



Cover their crops with a tarp

A
TR Bl B e @ dea §
Water the soil everyday in order to way it down
B
a1 &1 A R & g wfefea o &
Plant crops, plants, etc. to hold the soil in place
c
TET FT YR T W ¥ F R wEa 7 0 anfy i
Cut down all of the trees and crops.
D

wft I3 3R wue B e STIT

Correct Ans : C

Q.No: 112
2415309 The plantation in a huge manner to prevent soil erosion against wind and severe weather is called-

a1 3R TEIUS Fig b s Hal HReA B A & 1Y 93 T W geRIvu ) 9 Hed §-

Shelter Belts

A
T e
Contour Farming
B
wHrE R
Strip Farming
C
R v
Forestation
D

TR

Correct Ans : A

Q.No: 113
2415311 In area of hill slopes soil erosion can be controlled by-

RISl Ta! TR GaT $uRe o ey forar o s -

Deforestation

A
A
Step farming
B
WHidier af
Strip cropping
C
R &
Linear contour ploughing
D

R i g

Correct Ans : D

Q.No: 114
2415312 In which climate soil develops slowly?

oy wierarg # a1 1 A eR- o g 8-

Summer season

A
e B
Windy season
B
gl 31 Bg
Rainy season
c
auf By
Cold season
D

a %y



Correct Ans

Q.No: 115
2415313

Correct Ans :

Q.No: 116
2415315

Correct Ans :

Q.No: 117
2415316

Correct Ans :

Q.No: 118
2415318

What is called for the mature soils which are arranged in a series of zones?

uRuda a1 & e @1 w1 el 2, S & @ U e ek ad 8-

Soil zones

T &

Soil layers

7T B RS

Soil horizons

T R

Soil benches

o R

c

Which soil is developed in areas with high temperature and heavy rainfall?

FT a1 Fea AUAF SR Wi ol are Al & s gt 8-

Black Soils

@t gt

Red Soils

e gt

Laterite Soils

wewrge frdt

Loamy soil

ags figt

c

Which types of soils have maximum amount of water retaining capacity

5w TR P g & v 4R & @ sifiiean A At §

Desert soil

It frgt

Mountain soil

wers A

Alluvial soil

wreitg frdt

Regur soil

e gt

D

The another name of acid or alkaline soil which is used to designate hard and intractable soil is

St it firedt @ gERT AW 91 & R ST HOR IR P a1 B A B $ g e o -

Regur soil

TR &

Bangar

Kallar



Khadar

Correct Ans : C

Q.No: 119
2415321 Black soils are black in colors due to humus, Iron and

Tl firgh 1 T ren S, e T F SuFRRY F HRO A B-

Sulfur

Nitrogen

A

Aluminum

Tegfafras

Phosphorus

TTHGRE

Correct Ans : C

Q.No: 120
2415322 Which is the most effective and piratical way to raise the PH of acid soil?

el it &1 pH FET BT T THTR SR ATTRIRS TP B 2-

Calcium mono hydroxide

A
Ffexraw A FrsgiaEs
Lime

B
A
Phosphorus

c
TRGRE
Calcium phosphate

D

Fierm widbe

Correct Ans : B

Q.No: 121
2415508 Which of the following is the best fertilizer for basal application in paddy puddled field

Froffad & § $1 34 UM F 9 @ 9§ T IwRT S e wed o g 87

Ammonium Sulphate

A
Iifra wetre
Urea
B
e
Di-ammonium Phosphate
c
ITE-3mifray widbe
Calcium Nitrate
D

Ffexrgw TI5ee

Correct Ans : C

Q.No: 122
2415509 Most predominant cropping system in India is

YRA & T T HEe domeh §

Rice - wheat

o - g



Rice - rice

B

LIGER 10

Sugarcane - sugarcane
C

AT - T

Arhar - mung
D

3RER -

Correct Ans : A

Q.No: 123
2415510 Best time for sowing deep water rice is

TER U AT Wl H U ) A 1 Had ST T B §

Last week of June to first week of July

A
T ¥ sifew waTe | garé ¥ U W a@
Mid June

B
w
Mid July

c
Ao e
Early August

D

T B e F

Correct Ans : A

Q.No: 124
2415511 Fertilizer use efficiency in transplanted rice is

AR e H SRk P Iud-ae gt 3

75%

75%

50%

50%

25%

25%

85%

85%

Correct Ans : C

Q.No: 125
2415520 In India, which type of maize is mainly grown

7O U F URA # 5 USRI FaebT I Wl §

Dent Corm
A

Jea

Sweet corn
B

wie s

Flint Corn
c

forie o

Waxy corn
D

Yot B

Correct Ans : €

Q.No: 126
2415521 'White Bud’ of maize is a deficiency symptom of

wa § AEe T8 59 aw @ w1 e g 22



Zinc

A
ST
Iron
B
aer
Potassium
c
R
Phosphorus
D
TRERE

Correct Ans : A

Q.No: 127
2415522 Generally maize produces number of internodes
3 AR TR T FeRAISH P I T
10
A
10
14
B
14
18
c
18
20
D
20

Correct Ans : B

Q.No: 128
2415532 Seed rate required for transplanted pearl millet is

TR B AUE F o it ST 3 snavad R At &

1 kg/ha
A
1 /T
2 kg/ha
B
2 fm/RRw
5 kg/ha
(o}
5 feur/dRw
10 kg/ha
D
10 frm/RRW

Correct Ans : B

Q.No: 129
2415533 Optimum seed rate for pigeon pea or red gram is

SRER 1 A T4 & R i STem 3 Iuge ) B

10 kg/ha

A
10 fFm/FR™
15 kg/ha

B
15 fFu/dRW
20 kg/ha

c
20 fom/RRW
25 kg/ha

D
25 fFur/dRW

Correct Ans : B



Q.No: 130
2415534 The seed rate for summer mungbean or greengram is

Pererel 41 # @ & R & oo A R A ¥

10 - 12 kg/ha
A
10 - 12 fF/dRT
20 - 25 kg/ha
B
20 - 25 fFm/ AR
30 - 35 kg/ha
c
30 - 35 {51 / BRW
35 - 40 kg/ha
D

35 - 40 fom / FRW

Correct Ans : B

Q.No: 131
2417221 Active soil forming factors would include:

Tt I ATl wfba BR! F e §LLLL

Vegetation and topography

A
el 3R RSPl
Time, topography and climate
B
WY, AP IR ey
Time and vegetation
c
WY R gy
vegetation and climate
D

T 3R wearg

Correct Ans : B

Q.No: 132
2417223 Arrangement of soil particles is referred to as:

At & BN @) TR B el O B

Soil structure

A
gt ot wemen
Soil texture
B
Y @t sTae
Soil organization
c
frdt &t e
Soil profile
D
forét 3t iz

Correct Ans : A

Q.No: 133
2417226 Soil fertility does not depend on:

Tt Pt SRa v W PR A et @2

Physical condition of soil

A

fordt ot itfos R

Chemical condition of soil
B

gt ot vt Rufa

Biological condition of soil
C

firét 9t S Rufr

Climate



Serarg.

Correct Ans : D

Q.No: 134
2417227 Soil quality is generally enhanced by greater.

AR TR ¥ i) 1 o  offvw g2 A 2

Organic matter

A

Pt vard

Soil structure
B

gt it weme

Water holding capacity
C

SIS YROT &HAT

Soil texture
D

gt &t Fmae

Correct Ans : A

Q.No: 135
2417228 Microbial decomposition of organic matter is called:

Frdf varl & Yerelid) e HI 71 Pel Sl 87

Manure
A
e
Humus
B
Leuls
Vermicompost
c
ELicasiid
Biofertilizer
D

S IS

Correct Ans : B

Q.No: 136
2417231 Blue - green algae grow best in:

Fiefl- 58 71 T St e e T 82

Upland rice
A
I YA F = F
Lowland rice
B
WEF ua A
Sorghum
C
R &
Jute
D
e H

Correct Ans : B

Q.No: 137
2417232 Buffering capacity of soil means resistance to a change in:

Pt B Tl e 1 o R ... T uRad 1 vfRivew @) e

Soil microbial activity

A
Forét =t g ity wfafafy
Soil acidity
B
foréh ot aperar
Soil pH



fordt w1 dhem

Base saturation

YR Hqfea

Correct Ans : C

Q.No: 138
2417235 Continuous heavy rainfall leads to the formation of:

AR it st 1 aorg & et Fmfor g &2

Saline soil
A

wavita frgt

Sodic soil
B

wifs® firgt

Acid soil
c

srwefta fargt

Saline - sodic soil
D

it - e gt

Correct Ans : C

Q.No: 139
2417236 Criteria of essentiality by given by:

Hfardan @1 S e g fon mar g2

Jean Baptist

A
Cick i
Liegbig
B
e
Arnon
c
St
Julis Von Suches
D

Siftrer a1

Correct Ans : C

Q.No: 140
2417237 Deficiency of several elements is exhibited first in the apical region of the growing part due to their:

F¢ Tl B HH T Ued R g1 U F Rre” 87 F I PR g & B

Autolysis
A
SiteramgRra
Mobile nature
B
Translocation
C
RITAT<IROT
Immobile nature
D

Eecicors

Correct Ans : D

Q.No: 141
2417380 “Retort” is essential for

...  forg sawam 31

Vegetable Canning

woolt Y feaamadt

Fruit Canning



wo B fyaradt

wine
C

TRTE

Jam
D

ol

Correct Ans : A

Q.No: 142
2417381 Which of the following is the post harvest physiological disorder of mango

T o F W & a1 g e AhRe e @ 82

Black Tip
A
= fow
Internal Necrosis
B
it aRere
Sap Burn
c
H BT Se1
Spongy Tissue
D

Wt Haw

Correct Ans : C

Q.No: 143
2417384 Viral disease transmitted by seed is

5 e aren Rwg A ...

Psorosis

AR

Canker

Fav

Exanthema

TFETET

Die Back

3¢ 3w

Correct Ans : A

Q.No: 144
2417385 Chlorosis in plants is caused due to deficiency of

it 7 5w ) oft @t Ao § SRR S 82

Mg & Zn

Tl 3R ST

& ofre

Ca&oO

#ire ok ot

N &Mn

T 3R THE

Correct Ans : A

Q.No: 145
2417388 Plant growth regulator used for fruit thinning

Tl & Tae g TR SR far 91 arar Gel &1 e s ...



NAA
B
TR
GA3
c
w3
C2H4
D
M2gaa

Correct Ans : B

Q.No: 146
2417389 Self-incompatil

lity does not exist in which mango variety

i B Ry e & w-orih T @t &2

Chausa
A

rar

Langra
B

ST

Dashehari
C

el

Mallika
D

wfewst

Correct Ans : B

Q.No: 147
2417390 For regular bearing in mango which chemical is recommended

m # Frafid w0 wa @ & Re e T & S @t R $ s 32

GA3
A
e
Cycocel
B
TERE
Mancozeb
C
Hprag
Paclobutrozol
D

Yairggree

Correct Ans : D

Q.No: 148
2417395 Vinegar concentration should not be more than

R1 31 Az ¥ offt 7 B AR

2%
A

2%

5%
B

5%

8%
(o}

8%

10%
D

10%

Correct Ans : A

Q.No: 149
2417397 Which sprayer is used suited for spraying operations in kitchen garden



P T ER fred mET # fysaa ¥ forg Iuge 22

Knapsack Sprayer

A
A WY
Rocker Sprayer
B
e B
Hand Sprayer
c
W
Hand Pump
D
Fuw

Correct Ans : C

Q.No: 150
2417399 Which of the following fruit is not suitable for jam making?

Foffad & § 1 6 o 1 a7 % (g Suged T 82

Mango
A
_H
Anola
B
3figer
Lemon
c
g
Banana
D
Far

Correct Ans : €

Q.No: 151
2417488 Which among of the following is bottom up planning:

Frofefad & & T drorn Ffon § gad frad /F w g g

Training and visit system

A

Wi SfY A UGy

C i PP
B

Farming system approach
c

wifthT usf et

Coast sharing approach
D

ARTA WIS TR

Correct Ans : C

Q.No: 152
2417490 Which of the following is not communication process:

Froffad & § S HER v T8 3

Source

W

Encoding

RIS

Transmission

Meetings

kg

Correct Ans : D



Q.No: 153
2417494 The third tier of Panchayat Raj is:

P et I @ @ed 8

Gram Panchayat

A
AN GaATaq
Block Panchayat
B
WS garad
ZillaParishad
c
foren ufveg
Panchayat Samiti
D

Tarad wfdfr

Correct Ans : €

Q.No: 154
2417496 The first state in India to introduce Training and Visit system was :

TfRar iR AT TSR SR P ATl W HRE IS Ul

West Bengal
A
ufdm s
Bihar
B
e
Uttar Pradesh
C
IR W™
Rajasthan
D
TSR

Correct Ans : D

Q.No: 155
2417497 The new name of VLW is :

VLW T 71 A 8

Htsary,

Correct Ans : B

Q.No: 156
2417499 The smallest unit of content analysis is:

e fazamu ot gad B 35T 8

Theme

BUD

Words

R

Characters

e

Items



Elec]

Correct Ans : B

Q.No: 157
2417500 Freedom from variable errors is known as :

W e A B ST o @
Reliability
A
e
validity
B
wr=Er
c
o
Sustainability
D
fRar

Correct Ans : A

Q.No: 158
2417501 The lowest common denominator of a test is otherwise called:

T whe F TIA FH WA ISP FI GO edl F Bl el §:

Stem
A

w_u

Item
B

TgeR

Root
c

we

Base
D

L

Correct Ans : B

Q.No: 159
2417502 Attitude scales are used to measure:

oS Wl @1 I Fafifea # & 58w & g far s 3

Opinion
A
it
Judgement
B
Forofa
Fact
c
aa
Reality
D
eI

Correct Ans : A

Q.No: 160
2417503 Age, Sex and caste indicate:

31, Rt SR SfY frenT Wabd bl &

Social status

W #Rraa

Class status

it 3R

Ascribed status



Fifée #Rmm

Achieved status

ifdfa 2R

Correct Ans : C

Q.No: 161
2417769 Which is not a trait that should be incorporated in a crop plant?

E B 1 T e @ R Bow & 0 A et fran s e

to envir stresses

A

wafaveity qeEt & ufer et & @t

Increased yield
B

I & IR

Resistance to pathogens
c

Aot & g wferty

Increased tolerance to insect pests
D

et & ufer weeriteran  afS

Correct Ans : A

Q.No: 162
2417770 The main aim of plant breeding is

WY T B G SR §

to make soil fertile

A
Y &Y IUeITS; T F Rig
to produce improved varieties
B
I el &1 Ieued A & g
to become more progressive
c
fire wferfter @ & forg
to control pollution
D

ygur 1 frifia v F g

Correct Ans : D

Q.No: 163
2417783 ICAR - sugarcane breeding institute is one of the oldest research institute and is situated in

ST - T o TR T T SrRie SR @ e 3 ok R 32

Coimbatore, Tamilnadu

A
PRI, afEg
Hyderabad, Andhra Pradesh
)
¥R, oy
Kanpur, Uttar Pradesh
C
PR, I TG
Pune, Maharashtra
D

o, WERTY

Correct Ans : A

Q.No: 164
2417785 The process of introducing, stably integration and expression of foreign genes in the plant. produces transgenic plants and is called-

W F et S @1 T e, RR w0 § @i R siftveafd @t wfvan s it @1 S aed § SR g9 T o 8-

Gene expression

< aiftraafa

Transcription



wfraRET

Genetic transformation

e TR

Single cell hybridization

T BIRTBT HHI0T

Correct Ans : C

Q.No: 165
2417786 The genetic material leads to production of sterile hybrid on crossing with primary gene pool is called-

W o G B T IR B TR SRS G Y wie G P e g € PR wel o 8-

Primary gene pool

A
s o= qa
Secondary gene pool
B
wrafie oiH g@
Tertiary gene pool
c
g ot g@
Gene expression
D

oft arftreafd

Correct Ans : C

Q.No: 166
2417787 Which enzyme is responsible for the ripening process?

A B ufear & Ry H a1 Goren iR 37

polygalacturonase

A
glycophosphatase
B
TAEPHIBIEbeH
lactase
c
R
phosphatase
D
Wi

Correct Ans : A

Q.No: 167
2417788 Participatory plant breeding (PPB) is what type of program

el ured wor (i) forr e a1 drfwE &

When farmers are il in a crop imp! with opportunities to make decisions and contribute to the research process at different stages
A

wa e fofa o ok fafts wRolf & sreivr ufdear & Ahre 99 & SRl & w1y BHa R FrdwE § mive 9 ¥

Crop improvement programme in which farmers get opportunities to grow crops of different varieties
B

T GUR Frdwd e frare o s fre 3t ead ST @1 sawR frewr §

Crop improvement programme in which farmers need to take permission to produce stress resistant crops
C

oA GUR Friww R fFarl  aeg aRRd vl $ Iae F g sgafy a9 Y sravae @ @

Crop improvement programme in which farmers contribute only in research process at different stages
D

T GUR Srdwd Rl e fafim s & srqeiv wfhar # € e B ¥

Correct Ans : A

Q.No: 168
2417790 Apomixis is a form of asexual reproduction that occurs via seeds

TR e TS BT UH w2 S s & Herm § da 8

In which embryo develops with fertilization



ot Prie & wry oo Rl g @

In which development of plants is by vegetative propagation.

B

e e At gy dtelf @ e g @

in which embryos develop without fertilization
c

ot yor fr FrdreeT & RroRm g oma

In which a plant develops by macropropagation
D

Forer T dtur A g e gt @

Correct Ans : C

Q.No: 169
2417791 The direct manipulation of genes in a plant to change the genetic makeup of cells, including the transfer of genes within and across species boundaries to produce improved variety is called

T G S & A RIR B SR F ARG Aevor H ager & o wer o 3, R S5 e & e & for gt 1 il & iR iR uR S @1 RiiRwn e 21

Genetic drift

A
SR TET
Gene modification
B
o e
Gene fluctuation
[«
H # SaR-ugr@
Gene flow
D
o TeTal

Correct Ans : B

Q.No: 170
2417793 “Sporophytic incompatibility reaction of pollen is governed by the genotype of the plant on which the pollen is produced, and not by the genotype of the pollen” was first reported by ... in parthenium?

"IRT B WRIGTEe® SR Ufafar 3§ U1l & Si-ersy gRT Ml St § R IR RN &1 S@1ed 81l €, 7 6 WA & SiHIersy gRI* Uge aR Raé e mr o ... wdfe &

Hughes, 1950.

A
TGO, 1950
Babcock, 1950.
B
IaBIB, 1950
Gerstel, 1950.
c
RRE, 1950
Meldal, 1950.
D
#eed, 1950

Correct Ans : C

Q.No: 171
2418014 Which of the following is the smallest order of class insecta

a3 B W Fhe 7 71 I B B 82

Hemiptera

s

claroptera

TR

Zoraptera

SRR

Coleoptera

HiferaeT

Correct Ans : C

Q.No: 172
2418015 Light-stable synthetic pyrethroids, which is registered to control mites



Feb-fRR Ridfes uresiieey, St g7 &1 Fafid &% & g dofiga §

Toxaphene
A
GEsnaet
Cypermethrin
B
AERARA
Malathion
C
Frenferar
Monocrotophos
D
s iEaouand

Correct Ans : B

Q.No: 173
2418022 In the confusion technique pheromone coated paper strips are thrown over an area to

FGEH BT § AU Ples IR W ) 0o 87 R e a1 v & difes

confuse males insects so that they are unable to locate female insects

A
TR P B uftra T & Al 3 Arer P 1 war w F srwd §F
confuse male female insect both so that they are unable to locate each other
B
R ATET G FEY Y uftrd FRa ¥ AR A T g BT va @ 7 srwd g
confuse female insect to repel
C
weT B B S 5T ¥ g uftrr e ¥
confuse male insect to repel
D

TR Pt B S ger & g wfta wa §

Correct Ans : A

Q.No: 174
2418023 “Devine” and "Collego” are two agricultural substances work by producing toxic compounds that dissolve the cell walls of target

fEarg iR e < P uard ¥ S el D 1 I R ¥ S el B BT 3 fard B iR A ¥

Pheromones
A
W
Chemical fertilizers
B
T gdve
Bioherbicides
c
Insecticides
D

PreARs

Correct Ans : C

Q.No: 175

2418025 The wild growth of is checked with Cochineal insect in Australia
Sifefer & e e F Wy Pt Selt 9 @ e B o
Screwworm

A

wgad

Aphids
B
wfrgw
Eichhornia
c
e
Opuntia
D
iifear

Correct Ans : D



Q.No: 176
2418029 Stomach poisons have gradually been replaced by synthetic insecticides, which are less dangerous to humans and other mammals

e & X B R-4R Ridfed Frereient § gadt far €, S 7 R o TR F RiIT w8 GaRA® §

calcium arsenate

A
Fferm s
naphthalene

B
AwUAT
chloropicrin

c
FARIARET
rotenone

D
Rie e

Correct Ans : A

Q.No: 177
2418030 The naturally occurring contact insecticides developed from tobacco

darg ¥ R mpfad ¥ F ug I AT §ud FleTRE

DDT
A

Eisic

rotenone
B

A

pyrethrum
C

LIE

nicotine

D

Feda

Correct Ans : D

Q.No: 178
2418035 The Nobel Prize in Physiology or Medicine 1948 was awarded to Paul Hermann Mdiller for his discovery of which high efficiency contact poison against several arthropods

Rforiatot a1 AfRRA & T [EPR 1948 U & TR $I B3 SMITTISH & e o GafdT ard frd WUd wex 1 @iet & fre e mar i

Pheromone
A

HEA

Malathion
B

Henfiae

DDT
c

Eisic

Pyrethrum
D

LiEryle g

Correct Ans : C

Q.No: 179
2418036 Broad-spectrum Insecticide obtained from neem plant is

1 & G i sis-WaeH PeTNS §

pheromone

L ic]

Pyrethroid

TERifES

Malathion

Frenfrar

Azadirachtin



srefeRrafes

Correct Ans : D

Q.No: 180
2418037 Which pesticides are non-biodegradable and also called recalcitrant pesticides

P Y FreTwe R-Ja Fefigd § ok 32 Rbaite Preamme of et o &

malathion
A
Henfam
Organochlorines
B
Elsiciic
dalapon
C
STEuE
Triazines
D
v

Correct Ans : B

Q.No: 181
2418153 Some plants fulfil their nitrogen requirement by catching and digesting flies and other insects. Such plants are categorized as:

F% U1 HiRadl 3R 3 FIST B THSHR 3R TR TR G P AT B G B &1 W Neff B1 59 YbR aiffpal feban mar :

Carnivorous plants

A
wiwTEr W
Parasitic Plants
B
Rl d
Omnivorous plants
o}
waferdt d
Hemiparasites
D

-t e

Correct Ans : A

Q.No: 182
2418155 Which among the following hormone, is transported in polar manner and also requires carrier proteins?

Frofefad & & i gt delf 7 syl 7 F, ae W & Ry HeEid e o 82

Ethylene
A
el
Abscisic acid
B
iR s
Cytokinin
C
TR
Auxin
D
SR

Correct Ans : D

Q.No: 183
2418158 Red and Far-red light absorbing, bluish photoreceptor, which is present in the cytosol of plants, is:

el U4 YR ARG YT B 3(aiid B arel, e yHIerel, o Gl & Siikibigey § wiee gl €, 98 8

Phytochrome
A

Laroian

Cryptochrome
B

frermm

c Carotenoid



FAAATTS

Chlorophyll

FARIPa

Correct Ans : A

Q.No: 184
2418159 Which among the following is not a key response shown by cytokinin?

Frafefea # 3 w1 aeeTEiT gr1 < T e vt T 82

Cytokinins delay the senescence of leaves

A
AEABEAT TRl P g A IR FAE
In cell cultures, a high inil in ratio the formation of shoots
B
FIRE-Had §, 0 3ifie AEASERE- R U a9 F o+ P agrar a1 ¥
Cytokinins stimulate axillary buds to grow into branches
C
ArgdterEtE un wirl Y wrarsh § freRia 814 % Rig SAfE sar @
Cytokinins usually promote the elongation of stems
D

WRAPTER TR W T & RaR ) agrar 33 &

Correct Ans : D

Q.No: 185
2418160 Which statement is not true about aquaporins?

THTART & TR H B T HYT TG T 82

They are located in both the plasma membrane and the tonoplast.

A
3wz wa IR R § fRa §1
They facilitate the movement of water across membranes.
B
3 RAfRTG kT gRT Rt & yare Y glw yer a8
The water movement through aquaporins is always active.
c
THTIRA & wer A uF @1 vaTe g3 Wik &9 § g 81
The abundance of aquaporins in a plant cell varies with environmental conditions.
D

T 0 F FRT F T@Tai B wgar gatavvita aRfRift & wry aeed Tl 31

Correct Ans : C

Q.No: 186
2418161 Which of the following model describes translocation through phloem?

Frofifed & ¥ B9 91 Alsd TATH F ATeqH I RIFTGRY BT quiH Hel 8?7

Sucrose flow model

A
i yare Aisa
Pressure flow model
B
a4 YT Hise
Phloem loading model
c
wilgw WfET wisa
Phloem unloading model
D

TEleH AT wisd

Correct Ans : B

Q.No: 187
2418163 Nitogenase is an important enzyme for nitrogen metabolism and catalyzes nitrogen fixation. However, it is an oxygen labile enzyme. Which of the following protects nitrogenase from oxygen?

I AeTaifirsd F RIT TS U9 Tyl SoR® ¢ SR TEeo fRUHR BT SART F=al 81 T, T8 Uh safior e IoR® 31 Fafifed # ¥ i Teem o sifafor & aarm 82

Nodulin

g

Leghemoglobin



e

Ammonia
C
ST
ATP
D
ATP

Correct Ans : B

Q.No: 188
2418167 The Effect of kinetin in delaying senescence is called as:

FIEAAR & g Sfivf § faws B I B et W @

Wickson-Thimann effect

A
- v
Richmond-Lang effect

B
fraws-&m wuma
Richmond-Thimann effect

c
Fearvis-fda wura
Wickson-Lang effects

D

Raa-8m g

Correct Ans : B

Q.No: 189 . . . .
2418171 During the process of photosynthesis, O; is evolved from H;0. This fact was experimentally proved

by-

T HRATUT Y Ui G, 0, H:0 ¥ fas i alar 81 5 dear &t wihanesss w0 3 R
forar -

Ruben and Kamen

A
AT R P
Melvin Calvin
B
Afem dfam
Jan Baptist van Helmont
c
“H dufeve o deie
Joseph Priestley
D

R fed

Correct Ans : A

Q.No: 190
2418173 Which of the following is a difference between chlorophyll *a” and chlorophyll 'b’.

Fraffad & § S R 'a' 3R Ferifted b & di sicR B awiar 31

Chlorophyll *a’ has 4 pyrrole rings, whereas chlorophyll b’ has 6.

A

FARIPe 'a’ & 4 TG o 819 €, wrafds nifea b # 6 14 81

Phytol tail of chlorophyll ‘b’ is shorter that phytol tail of Chlorophyll ‘a’.
B

TR 'b' B BIgeld da FARIPp 'a’ B By o B gt 81

Chlorophyll ‘a’ has methyl group at II pyrrole, Cl ‘b’ has group at II pyrrole
c

FARIPE 'a' § 11 g W Rurge g g1 @, Safd @R 'b' § ufRerss g 11 ursdie R i 81

Chlorophyll a’ has Magnesium ion in the centre of porphyrin ring, whereas Chlorophyll ‘b’ has Calcium
D

TP 'a’ & WA 1 & Fx & TR s g 8, Fafs weiifes ‘b & e gar

Correct Ans : €

Q.No: 191
2419111 “Economics is the Science of Wealth” who gave this definition?

Tg et &t g¢ uRem 3 sredurd o @ o 2



J. K. Mehta

A
. F. Agar
Marshall
B
wreie
Adam Smith
c
wen Ry
Robbins
D
Rucs:]

Correct Ans : €

Q.No: 192
2419112 “Economics is a science” the basis of this statement is

1. Relation between cause and effect
II. Deductive and inductive method for the formations of laws

III. Experiments

"SI U A B 9 U BT SR E -
1. BROT SIR UG & i BT Hae
11. Pl @t o & e feriiors 9 Sure fafdy @ SwarT

111 AN
only I
A
Faa 1
Only IT
B
¥ 11
Only III
c
Faw 11
All I, IT and III
D

ol 1,11 8% 111

Correct Ans : D

Q.No: 193
2419113 Which theory is generally included under micro economics?

1. Price Theory
1. Income Theory

III. Employment Theory

HAR FU Y e Rigia & ger SR (Al 3 Hia) & sfaria e R s &2
1. e Rrgia

11. 3ma Rygid

111, ISR Rygid

Only I

Faa 1

Only IT

Faa 11

Only 111

Faa 111

All I, IT and III

ol 1,11 8% 111

Correct Ans : A

Q.No: 194
2419114 Who has given scarcity definition of economics?

s 1 B Y o e @ &2

Adam Smith

weu Ry

B Marshall



wrefer

Robbins
c
M
Robertson
D
Sfadw

Correct Ans : C

Q.No: 195
2419122 Opportunity cost is-

A/ AT ...

Cost of supplementary enterprise

A
WF I B AR
Cost of next best alternative foregone
B
e Y 3TA HalwH faded #t amma
Cost of cultivation
C
Wt A e
Cost of production
D

IaeT B AT

Correct Ans : B

Q.No: 196
2419123 Optimizing the use of farm resources on an individual farm level. It is a

et fadw Qa/mr & wR W P Gl $ I BT SR T TS ... 2

Farm management

A
/e TEuT
Production economics
B
e s
Agricultural marketing
C
Py o
Macro economics
D

WY srefued (et g iTE)

Correct Ans : A

Q.No: 197
2419124 Variable costs are the sum of..?

1. Marginal cost
11 Fixed cost

1IL. Average cost

Faa 1

Only IT

Fae 11

Only 111

Faa 111

All I, IT and IIT

ol 1,11 ok 111

Correct Ans : D



Q.No: 198
2419125 The variable cost is a component of total cost, another is, ?

1. Marginal cost
I1. Fixed cost

II1. Average cost

uRadEie AT S AT BT TP TP 3, GO P ... ?
1. dmid arma

11. FAfda/RR s

II1. 37 T

only I

Faa1

Only II

Faw 11

Only III

¥ 111

All I, IT and III

wft 1,11 3R 111

Correct Ans : B

Q.No: 199
2419127 In case of fixed cost unit the quantity of output is measured..?

1. On the horizontal axis
II. On the vertical axis

III. On the cross axis

AT $TE & R 1 IR TG B HA Bl AT Wl €..2
1. &fteT e W

11. R e T

TIL. 1 318 TR
Only I
A
Faa 1
Only 1T
B
Faa 11
Only 111
c
Faw 11
All I, IT and IIT
D

[l 1,11 8% 111

Correct Ans : A

Q.No: 200
2419136 The debts which are to be repaid within a short period (a year or less) are referred to as:

I. Current Liabilities
II. Fixed liabilities

II1. Contingent liabilities

Rt H0l 1 3160 Sfaf (Ueb o A1 S ) F MR FHTI G B, A
1. M Earg

11, R et

TI1. 31efeT FaTat

Only I

Faa 1

Only IT

¥ 11

Only 111

¥aa 11

All I, IT and III

oft 1,11 8% 111

Correct Ans : A



Q.No: 201
2419224 Since which year was the construction of Fort Aguada started?

SAT3TST et 1 Fmfor forw o & T gorm ur?

1534
A

1534

1609
B

1609

1701
o}

1701

1825
D

1825

Correct Ans : B

Q.No: 202
2419227 The Agra Fort is built of -

SRT 1 et e a1 82
Granite
A
I
Pink Jaipuri Marble
B
Tt A R
Red Sandstone
c
T TG TR
White Marble
D

WG FHREY

Correct Ans : C

Q.No: 203
2419302 Rabi Crops are grown in which of the following seasons?

it @t waa Fafifea 3 & few dm § 3w o 32

Summer Season

A

i &

Winter Season
B

RUCE:T

Rainy Season
C

T BT

Spring Season
D

ERCET

Correct Ans : B

Q.No: 204
2419305 Which of the following activity is a part of the Secondary sector of economic activities?

Fofafed § § o9 @ nffafy siffe nfafafdl & fidias & o1 fewm 32

Fishing

Banking
e
Manufacturing
faftrator

Mining



Rcuil

Correct Ans : €

Q.No: 205
2419314 Who among the following added a new dimension to food security and emphasised the “access” to food through what he called entitlements?

Frofifed & § fre @ e 3 TF a1 3 Siet 3R v 9% "IgE" W SR e, R 3T gher Far ure

Jean Dréze
A

i &=

Abhijit Banerjee
B

it aelf

Amartya Sen
c

el ¥

Kaushik Basu
D

PIRTS T

Correct Ans : C

Q.No: 206
2419385 Which of the following tennis-players is also known by the nickname “The Ice Man"?

Frofifed & 3 g 2R R @1 e ey 39" ST F o ST S 82

Roger Federer

A

Ao P

John McEnroe
B

ST AP

Bjorn Borg
c

=i ant

Jimmy Connors
D

Ronft @it

Correct Ans : C

Q.No: 207
2419506 Formation of a mountain is caused by which of the following forces?

wdd o1 Fmfor Frafifea 3 & e aa & Swon g 22

Sudden forces

A
HTHEP T
Diastrophic Forces
B
vew faeuo a@
Erosional Forces
C
MRS
Depositional Forces
D

Frérqur

Correct Ans : B

Q.No: 208
2419548 The battle of Plassey was fought between which of the following?

Wit F1 g Frefaied 9 frud @ ast m ure

Sirajuddaulah and Robert Clive

Rreeien 3k Fad aemga

Mir Jafar and Mir Qasim

HR T SR R FRm

Sirajuddaulah and Mir Jafar



Rregeian sk #R swr

Mir Jafar and Robert Clive

HR TwR 3R Wad Taga

Correct Ans : A

Q.No: 209
2419553 The policy of ‘paramountcy’ was initiated under which of the following governor general?

Frofifed # & 5w TaR SR & ded atwar 3t Ay T AT e

Lord Dalhousie

A

e st

Lord Curzon
B

i wefa

Lord Hastings
c

wié R

Lord Minto
D

@it firet

Correct Ans : C

Q.No: 210
2419629 Who is the author of the novel "I Shall Not Hear the Nightingale”?

"3 T e R & TfAer Suar & dws i 82

Vikram Seth
A
fan 3
Khushwant Singh
B
guad Rig
Arvind Adiga
C
3Rfeg fEm
Vishnu Sharma
D

oy

Correct Ans : B

Q.No: 211
2419641 Who is the author of the book “India Divided"?

R Rads" W & dad IH 87

Dr. S. Radhakrishnan

A
3T 9. uTFwE
Dr. Rajendra Prasad
B
¥ iz e
Vallabhbhai Patel
[«
TEYUTE T
Pt. Jawaharlal Nehru
D

Y, SETEY AT Vg

Correct Ans : B

Q.No: 212
2419705 Fundamental Duties were inserted into the Constitution of India by which of the following Amendment Acts?

hferes et &1 Frafafla # 3 g weier sffam grr wra & W # ffed fear mr ar

42* Amendment Act

42ai Wit siffrm

44 Amendment Act



a4ai Wit siftifrm

74% Amendment Act

c
74at wwite siffrm
78* Amendment Act
D
78ai wxite siftfram

Correct Ans : A

Q.No: 213
2419708 Which of the following Amendments to the Constitution of India provided that ten percent or more members of Lok Sabha can requisition a meeting and disapprove or revoke the National Emergency?

HRA & Wy & Faffed § § S @1 I g8 TaH X 8 deuuT $ o8 ufiwd a1 3iid 9w U6 6% 31 A S G ¢ SR AP SHETd S SER a1 I B 6 87

42 Constitutional Amendment

A

423t A W

44% Constitutional Amendment
B

44at Wi T

51# Constitutional Amendment
c

518t AU W

60 Constitutional Amendment
D

60a WY wEite=

Correct Ans : B

Q.No: 214
2419724 At the inception of the Constitution of India, the legal age to eligible to vote was -

YRA & Ay B R0 & T, AdaH & g a8 3 S 9 & -

18 Years
A

18 ¢

20 Years
B

20 ¥1d

21 Years
c

21 9

25 Years
D

25 |

Correct Ans : C

Q.No: 215
2419910 Who out of the following captured Gwalior after the Battle of Panipat in 1761?

Froffad & § fFes 1761 § uFiud 31 a9t F e TAIRER W Foo F R ur

Mahadji Scindia

A
wgTest Riftan
Daulat Rao Scindia
B
Jraa v Riftrar
Jayaji Rao Scindia
C
wraTeft 3T fiferar
Ranoji Scindia
D

el Riftrar

Correct Ans : A

Q.No: 216
2419920 Mark the correct match of tribal dance and their tribe.

S F SR I SIS 1 et e fafyd v



Karma and Saili - Gonds

A
wat o et - v
Bhagoria - Saharias
B
Vi - weTRai
Thaapti - Bhils
C
yraft- e
Lehangi - Kokru
D

et — IRy

Correct Ans : A

Q.No: 217
2419980 Under which of the following campaigns did Rajnath Singh virtually inaugurate more than 57,000 water structures in Madhya Pradesh in February 2021?

Frofifed & 3 fra siftam & dea oy Rig 3 ot 2021 F 77 1= § 57,000 F 3 ot TR FT agaret Squred fhar

Jal Hi Jeevan Hai Campaign

A
v € it @ s
Har Ghar Jal Campaign
B
W o A
Jalabhishekam Campaign
c
srenfide sftar
Nal Se Jal Campaign
D

A & i it

Correct Ans : C

Q.No: 218
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select No Error.

The purpose of AMRUT yojana is to ensure that every household has accessed to a tap with an assured supply of water and a sewerage connection.

A The purpose of AMRUT yojana is to ensure
B that supply of water and a sewerage connection.

c every household has accessed to a tap with assured
D No error.

Correct Ans : C

Q.No: 219
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select ‘No error’.

A special commando force are being guarded the famous Catholic Church in France.

A No error

B Catholic Church in France.

[+ are being guarded the famous
D A special commando force

Correct Ans : €

Q.No: 220
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the appropriate option. If a sentence is free from error, select No Error.

Economists argue over the vexed question of how to reducing spending.

A how to reducing spending.
B Economists argue over

c the vexed question of

D No error.

Correct Ans : A

Q.No: 221
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

Please turn (off) the volume of the Radio, such that it is not quite so loud.



B down

D No improvement

Correct Ans : B

Q.No: 222
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

Even as a young boy, he (has lacked) the inclination to go outdoors and play.

A lacks

B was lacking

c lacked

D No improvement

Correct Ans : C

Q.No: 223
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No improvement.

She prefers coffee (to) tea.

A than

B over

C for

D No improvement

Correct Ans : D

Q.No: 224
Out of the given options, choose the one which is the correct active voice of the sentence given below.

The assignment had not been completed by me.

A I have not completed the assignment.

B I had not completed the assignment.

c I had not been completing the assignment.
D The assignment was not completed by me.

Correct Ans : B

Q.No: 225
Out of the given options, choose the one which is the correct active voice of the sentence given below.

Is a letter written by you?

A Did you write a letter?

B Is a letter being written by you?
c Are you writing a letter?

D Do you write a letter?

Correct Ans : D

Q.No: 226
In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice?

People believe that Sneha is a cute girl.

A That Sneha is a cute girl is believed by the people.
B That Sneha is a cute girl was believed by the people.

C That Sneha is a cute girl has been believed by the people.
D That the people are cute is believed by Sneha.

Correct Ans : A

Q.No: 227
A sentence has been given in Active/ Passive Voice. Out of the four alternatives suggested, select the one which best expresses the same sentence in Passive/Active Voice.

Who is knocking at the door?

A By whom the door is knocked at.
B By whom the door was knocked at.
C By who the door is being knocked at.

D By whom the door is being knocked at.



Correct Ans : D

Q.No: 228
out of the given options, choose the most appropriate word/set of words to fill in the blank.

The boy on the burning deck.
A stood

B have stood

c have stand

D has stand

Correct Ans : A

QNo: 229 Out of the given options, choose the most appropriate word/set of words to fill in the blank.
The boy______the ball.

A caught

B have caught

C have catch

D has catch

Correct Ans : A

@fNo: 230 Out of the given options, choose the most appropriate word/set of words to fill in the blank.
His outstanding performance. the show.

A stole

B have steal

[ have stole

D has steal

Correct Ans : A

Q.No: 231
Select the most appropriate option to fill in the blanks.
Indulgence in anything may prove to health.
A injurious
) outspoken
c veracity
D repet

Correct Ans : A

Q.No: 232
Select the most appropriate option to fill in the blanks.

His success may be attributed to his

A highway
B colonial

c highlight
D diligence

Correct Ans : D

Q.No: 233
Select the most appropriate option to fill in the blanks.
Globally the domestic cat one of the most ubiquitous mammals.
A is
B am
C had
D has

Correct Ans : A

Q.No: 234
2420206 Which of the following types of coal is called a brown coal among the following?

Foffad § § 59 yeR & SHad B 4¥ B sl o 82

Peat



e

Lignite
B
Rrmge
Sub-bituminous
C
Su-fagaht
Bituminous
D

Correct Ans : B

Q.No: 235
2420214 Tanya throws a ball vertically upwards, which rises to a height of 60 m. Which
of the following statements is NOT correct? [Take g = 10 ms?|

AT TF 2 HT AAAT HIL D1 AL Gl 2, AT 60 HIeL & ZA1E 7% g0t gl Fafataa 1 &
FIT IT FIT TET Tol 22 [ AT = 10 TATHA-2]

The ball was thrown upwards at an initial velocity of 35 ms ! approx.

A
2 T AT 35 ms? F FHE 377 T F9T 6T AL G 147
The time taken by the ball to reach the highest point is 5 seconds.
B
g g1 Swaw fig % ugan & frar an wa 5 Vs B
Acceleration is constant throughout the motion.
c
e & R @Ror FRR AT §1
Velocity is zero at the top.
D

MR IR

Correct Ans : B

Q.No: 236
2420361 Which of the following pairing denoting the mixture of gases in air is NOT correct?

g # 9 & e @ Fresfr e aren Pafifea 3 § - gw wd w8 e

Oxygen — 20.09%

A
3fferiIetet - 20.09%
Nitrogen — 78.03%
B
ASEIS - 78.03%
Argon - 0.3%
c
T - 0.3%
Carbon dioxide — 0.033%
D

FId SISHASS - 0.033%

Correct Ans : C

Q.No: 237
2420364 Which of the following is the active component of the air?

Fofafed & § S arg @1 9fa gew 32
Helium

Aferm

Nitrogen

G

Carbon dioxide

P STFAHTATS

Oxygen

SifefterT

Correct Ans : D



Q.No: 238
2420368 Which of the following mixture is burnt to produce very high temperatures and are used for cutting metals and for welding?

QB F o B v B § Rdae & wu H wan fan s @2

Oxygen and Ammonia

A
SifertorT SfY srtferar
Oxygen and acetylene
B
SiRferT o effeedT
Oxygen and Nitrous Acid
C
ifertorT 3fY ATgew TS
Oxygen and Sulphur
D

SHTRfE 3R TEwY

Correct Ans : B

Q.No: 239
2420379 Which of the following is a process in which water from any source change into vapour state ‘due to heat’?

Froffad & § $-0 e w3 e e of wia § o i & sror arg s § Tqa @ g2

Precipitation

A
o
Transpitation

B
e
Evaporation

c
aruftezor
Humidification

D

TEfervur

Correct Ans : C

Q.No: 240
2420502 Which of the following diseases can NOT be spread through air?

FRifad & § SH-91 3 arg gR1 = b " 82

Conjunc
A
EERCL: DRl
Cholera
B
kS
Mumps
c
HUSHTAT
Influenza
D
TR

Correct Ans : B

Q.No: 241
2420508 Which of the following is most correct about a balanced diet?

wferd SMeR & o # Fufifed # § S @ v 96 B 82

It should not have fats.

A

T T T g AR

It should not have carbohydrates.
B

T PrlETESe TE E Aee

It should have minimum proteins.
C

A AR W g ARy



1t should have carbohydrates, proteins, fats, vitami i and fibres.

Correct Ans : D

Q.No: 242
2420514 The Aedes Aegypti mosquito can NOT act as a vector for -

T TR wR e o AR & w0 § o T v W 82

Dengue
A
Malaria
B
wafvar
Zika
C
ot
Yellow Fever
D

e gER

Correct Ans : B

Q.No: 243
2420643 hich of the following acids is present in an ant’s sting?

Froffad & § 5 @ o 9 F S F Ao o 82

Citric acid
A

wrgfew e

Formic acid
B

Wi e

Lactic acid
[

dfFew s

Acetic acid
D

R o

Correct Ans : B

Q.No: 244
2420646 Ammonium hydroxide is found in -

I SRS IaEIgS U o § 0
Bananas
A
Fa
Window cleaner
B
st =i
Vinegar
[
Rt
Milk of Magnesia
D

fRr w1 gy

Correct Ans : B

Q.No: 245
2420655 Consider the reaction -

Copper sulphate solution (blue) + Iron — Iron sulphate solution + Copper
‘What is the colour of the iron sulphate solution?

Sffra R R &% -
BT GABE B UId (1) + RA — AR GAbe B °1d + B
TR Gelbe & Hiel T 1T BT el 82

Black



Brown

B
EIcE)
Green
c
i
White
D
g

Correct Ans : C

Q.No: 246
2420658 Galvanisation is the process of depositing a layer of on iron.
TegIgolRH Al W) B TS U o] B B Uha1 51
Mercury
A
URT
Oxygen
B
SffeRfteTT
Zinc
c
s
Sodium
D
wfsTw

Correct Ans : C

Q.No: 247
2420888 Which of the following is an example of a plant which reproduce through its buds?

Froffad & § 1 39 01 BT I § S ST Bert 3w F ySE wear 87

Beans
A
witrat
Peas
B
qx
Pumpkins
C
P
Potatoes
D
ST

Correct Ans : D

Q.No: 248
2420889 Which of the following is not an abiotic component of our surrounding?

FrffRd & § $1 gAR HHUE F1 SR Tew Té &7

Microorganisms

A
qeaeiat
Soil
B
R
Air
c
ag
Temperature
D
A

Correct Ans : A

Q.No: 249
2420891 The joint where the neck joins the head is known as which of the following?

g Js o e RR A gt 2, Fraferfea 3 3 e e &2



Fixed Joint

A
Eeck g
Pivotal Joint
B
R HRY
Ball and Socket Joint
c
Fg-wfere |t
Hinge Joint
D
et

Correct Ans : B

Q.No: 250
2420903 The pores on the surface of leaves which help to take in the carbon dioxide are known as which of the following?

ftrdl @ TE W A 5% o B SKefiRTss T80 IR # e wd ¢, Fafred # § el wed 82

Nucleus
A
FET
Cytoplasm
B
IR 7T
Stomata
c
L]
Cells
D
BHfRIPT

Correct Ans : C

Q.No: 251 Four kids P, Q, R and S are up_on the ladder. P s further up the ladder than Q, Q is between P and R. If S is further up than P, who is the third from the bottom?
2421091 TRIRP, Q RINS TA W& ¢ FAWFW I Q, PINRF RIS, P & IR FW 8, M F ey 1

g
e ,
c R
D Ss

Correct Ans : B

Q.No: 252 V, W, X, Y and Z are five friends. V, X and Z are fond of Mango. W, X and Y like Apple. V, W and Z like Guava. W, X and Z like Banana. V and Y are fond of Orange. W, Y and Z like Chickoo. Fruits liked by X are

2421093
V, W, X, Y 3R Z ufa G §1 v, X 3R Z 319 & BT 71w, X 3R Y I 080G A §1 V, W IR Z 3G TG FRA 21 W, X IR Z A T B 31V AR Y RS & T R1 W, ¥ R z Fig ueie Rd B1 X gRT N B -
a Mango, Apple, Banana.
34, |,
Guava, Orange, Banana.
8 TG, qﬂ"lﬁ,%—al
Banana, Chickoo, Apple .
¢ A AL
b Mango, Chickoo, Guava.
W, g, smegl

Correct Ans : A

Q.No: 253
2421122 In the given figure, which number represents how many such advocates are either actor or doctor, but not both?

e —» QWB — oo

Advocate

& ot A, ¥ e gedidve ¥, o o ) e @ an S , A A A @2
daez —» — 3z

i

70



70

75
B

75

80
c

80

83
D

83

Correct Ans : C

Q.No: 254
2421144 In the following question, two statements are given each followed by two conclusions I and II. You have to consider the statements to be true even if they seem to be at variance from commonly known facts. You have to decide which of the given

conclusions, if any, follows from the given statements.

Statements:

Some notes are coins.

No paper is note.

Conclusion:

1. Some papers being coins is a possibility.

I1. All coins are papers

Fraffed vy &, vde & 3 Fsy 1 3R 11 & 18 & S U 14 €1 us! wuel &) 8 819 W R &3 8, v & 3 o AR W id qedi @ i g1 Siuw! 7 0 A1 €N b Y e fresf # @ o fresd, ofg i @, o i e syl @ forar @1

B
F® A, R 31

T o I, e T R

Fred:

1. 38 TR 1 fiad 9 3 T 81
11. o R, TR 31

Only conclusion I follows

A
Fae Frewd I SR HRaT §
Only conclusion II follows
B
Fae Fread 11 3R ST §
Neither conclusion I nor II follows
c
= A Freed 1 ofR 7 & 11 SR e §
Both conclusions I and II follow
D

3 frepd 1 3R 11 SR A §

Correct Ans : A

Q.No: 255
2421152 In the question below are given some statements followed by some conclusions. You have to take given statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the

given conclusions logically follows from the given statements disregarding commonly known facts.

Statements:

No Tulip is Rose

No Rose is Orchid

Only a few Orchids are Jasmines
Conclusions:

1. No Tulip is Orchid

II. Some Tulips are Jasmines

A v F 3 U IR I a1E 3O P R T R Ul Ry T Bl A1 w W R, v € 3 I 9l F orem vl g g1 welt e 0 ufew oiv o Frofa @i s forn mar i i s s qdt 1 ARG SR IR U] @ Al T § SRR R 31

L
¢ e A A R

g A sfifebs TE ¥
Fad o Siifhs S §
fread:

1. B efr o 78 &
11. $ ogfe A &

Only conclusion I follow

Fael Freed I SR R §

Only conclusion II follows

Faa Fred 11 SR e §



Neither conclusion I nor II follows

A Preed 19 @ 11 SR B §

Both conclusions I and II follow

Fored 1 3R 11 G SrgERET A

Correct Ans : C

Q.No: 256
2421296 Find the odd number from the given alternatives.

fow e fwedt # ¥ fawm/fm dem 3@ SRR

Y
A

Y

3
B

bl

o
c

o

1
D

Correct Ans : D

Q.No: 257
2421298 Find the odd one out from the given alternatives.

o fawrea # fawm /firg s Sfor |

DEG]

DEGJ)

QRTW

QRTW

JKNQ

JKNQ

YZBE

YZBE

Correct Ans : C

Q.No: 258
2421303 Find the odd one out from the given alternatives.

fe e e @ faww @ wv)
Bank card
A
¥ TS
Debit card
B
e 71
Credit card
c
Fide w1
Memory card
D

Tl arE

Correct Ans : D

Q.No: 259
2421310 Select the correct combination of mathematical signs to replace * signs and to balance the given equation:

72 * 144 * 72 * 6 * 40 * 110

* g @ Vi & & ol ok wifiesw @) Frdfid v & o Tivndt fore & Wt gm @ s

72* 144 % 72 * 6 * 40 * 110

X 4-=



++i-=
B

++ o=

X+ +-=
c

X+4-=

-+ xx=
D

-+ X x=

Correct Ans : C

Q.No: 260
2421319 In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be used more than once while each of the letters outside the intersected portion is to be use only once to form
meaningful word(s). If no such word can be formed give ‘X' as the answer, and if more one such word can be formed, give ‘M’ as the answer, otherwise the second letter of the word will be the answer.

S i

O

F RT T vy T o S4ER @ SSTHR F TH g B FIed g 2T T T vl id wr § T skt 31 U F oifie IR SudnT e o wedt § S Uiwfad M $ ST & UdE 316R BT I $ad T SR S0l s o & forg foar e 31 af Y B wies e
TR S WAl § A IW X' §, AR A T SR T e S S GHA @, A IR M F, YT ek BT G &R I S

-~ 7N N

OO

N\ S b4

T
A

T

I
B

I

K
c

K

X
D

X

Correct Ans : C

Q.No: 261
2421323 In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be used more than once while each of the letters outside the intersected portion is to be use only once to form
meaningful word(s). If no such word can be formed give ‘X’ as the answer, and if more one such word can be formed, give ‘M’ as the answer, otherwise the second letter of the word will be the answer.

F Ry 1T vy F O S4ER A SSTHR F TH g B FIed g 2T T T vl fd wr F T skt 31 U F oifies IR ST e o wed1 § S ufifad M ST & TS 31eR 1 IUANT $ad U SR S0l s o & forg foar e 31 af Y B wies e
TR S FHAT § A IW X' F, AR A T SR T e S S el B, A IR M F, T ek BT GERT &R I S

E
A

E

H
B

H

B
(o}

B

X
D

X

Correct Ans : A

Q.No: 262
2421356 Complete the following series:

Mhz, Ngy, Ofx, Pew, ?

Frofafed s o @ at:

Mhz, Ngy, Ofx, Pew, ?



Qdv
B

Qdv

Qrm
c

Qrm

Qan
D

Qqn

Correct Ans : B

Q.No: 263
2421360 From the given responses, find the missing letter in the series.

BBD, CDG, DFJ, EHM, __.

fw e e 7 @ 4oft # g 31eR 1 910 X

BBD, CDG, DFJ, EHM, __.

FKP
A

FKP

FIQ
B

FIQ

FIP
c

FIP

DJo
D

D3O

Correct Ans : C

.No: 264
2421401 Find the missing number in the given analogy:
144 :1728::169:?

Qu a0 g # qed T AT B
144:1728 :: 169 : 2

2079
A

2079

2197
B

2197

3077
(o}

3077

2917
D

2917

Correct Ans : B

Q.No: 265
2421404 Select the related number from the given alternatives.

97:16::85:?

Rw 1w Aot & F Fofda Team 1 aua
97:16::85:7?

21
21
a4
a4
55
55

81



81
Correct Ans : D

Q.No: 266
2421448 A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

19, 28, 39, 52, 2, 84

2 T simen @ 7 R, R T ue g@ 1 R g fiwed § § 98 9 R IR S o H B q@ AR

19,28, 39, 52, 2, 84

39
A

39

52
B

52

67
c

67

84
D

84

Correct Ans : C

Q.No: 267
2421451 A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

8,15, 28,53, ?

A v sigen & 7 R, Rl Ue ue g 21 Ry T Rieedi # A a8 9 Rieved 9T S 3hH B @1 AR

8,15, 28,53, 7

106

102
Correct Ans : D

Q.No: 268
2421507 What should come in place of the question mark (?) in the following question?

6+6x9+6-9x6-6+6x9="

Frafefad vy # vaaras e () & R TR @1 AT AT
6+6x9+6-9x6-6+6x9="

7
A

7

8
B

8

9
c

9

10
D

10

Correct Ans : C

Q.No: 269
2421516  What should come in place of the question mark (?) in the following question?
280+ 14 % 15 +252= 22+ 20% of 125

Frafafed oy & ayaras 195 () & RIF R a1 A A2
280 + 14 x 15 +252 =72 + 125 &1 40%



25

A

25

30
B

30

35
(o}

35

40
D

40

Correct Ans : B

Q.No: 270
2421549 Find the largest fraction of the following fractions?

Frofafed il 4 § ga@ 931 e 31 i

192
21

192
21

189
19

189
19

261
28

Correct Ans : B

Q.No: 271
2421554 Find the largest fraction of the following fractions?

Frofafad sl § § gad 9t e 1a S

55
98

55
98

12
23

12
23

29
57

29
57

37
72

37
72

Correct Ans : A

Q.No: 272
2421594 Find the sum of digit of smallest number which when divided by 2, 3, 4, 5 & 6 leave remainder 1 in each case.

Ig B | B T F e P A 1 P B 2, 3, 4, 5 3R 6 F UM A W v R F Awwa 1 o @



5
C

5

7
D

7

Correct Ans : D
Q.No: 273
2421631

(o}

D

NN 00 Ul mR

Correct Ans : B

Q.No: 274 A 4-digit number is formed by repeating a 2-digit number such as 2424, 1212 etc. Any number of this fnrm is always exactly divisible by ?
kol TR 9 ¥ wea gofe: i g

2421654 TS IR 3| B1 GO B 2 SR S T €, SR 2424, 1212 A 3 AR B S 90 W P A
A 7
8 i
c 3
° 101

Correct Ans : D

Q.No: 275
2421685 A test consists of a total of 100 questions from three sections QA, LR and VA. All

questions carry equal marks. QA section contains 35 questions, LR section contains
35 questions and VA section contains 30 questions. A student answered 60% from QA
section, 40% from LR section and 50% from VA section correctly. Exactly how many
more questions should he have answered correctly to get the pass percentage of 65%
in the test?

wE FE § O FE QAL LRI VAF T 100 R §| TN WAl W FA 3 §| QA BT
# 35 WA, LR JRF & 35 R IR VA FRA & 30 RA &1 UF BT 4 QA FRUA F 60%, LR
FRE T 40% A VA TR & 50% RAT & Scck FET u) Y& # 38 8196 65 FfeRid &7 Secirof
ST T R T fhaer 3R e & Sae TG G WRw

20
A

20

15
B

15

24
c

24

19
D

19

Correct Ans : B

Q.No: 276
8
2421712 If selling price of a bag is = times its cost price, the Profit percent on it is:
8 .
e, e a1 1 .77, 3 T el 1 A0 §, A S0 et et v |
120%
A
120%
160%
B
160%
40%
c
40%
60%
D
60%

Correct Ans : D



Q.No: 277
2421728 Animesh sells two machines at Rs. 396000 each. On one he Gains 10% and on the other he loses 10% His Profit or

Loss percentage in the whole transaction is:

AT 396000 F.97c AN 1 T & &1 AN I §1 gk AN T I 10% T A GIer & T G #RMef & SR 39 10% H
et e &, o 39 X et & SHHT T A7 gy whawd A a

No Gain No loss

A

= ameT F gty

1% Loss
B

1% gifer

1% Profit
c

1% @meT

8% Profit
D

8% W

Correct Ans : B

Q.No: 278
2421754 A sum of Rs. 16 gives a simple interest of Rs. 2.52 in 2 years and 3 months. The rate of interest per annum is:

¥. 16 B 4RI W 2 a 3 FER P WIUR S %, 2.52 ¥, W PR B

10,
5 3%
A
10,
5 3%
8%
B
8%
7%
c
7%
6%
D
6%

Correct Ans : C

Q.No: 279
2421842 The ratio of money with Ram and Gopal is 7:17 and with Gopal and Krishan is 7:17. If Ram has Rs.490, Krishan has—

I IR TiaTe & s o B 3uTd 7:17 § AR e 3R $w1 & e 6 1 3uT 7:17 B IR @ S UM Rs. 490 &, A P S U 8 -

Rs. 2890
A

Rs. 2890

Rs. 2680
B

Rs. 2680

Rs. 2330
C

Rs. 2330

Rs. 1190
D

Rs. 1190

Correct Ans : A

Q.No: 280
2421846 3 brothers divided Rs. 1620 among them in such a way that the share of second is equal

5
to s of share of two combined. What is the share of the second one?

e T 3 SRR 1620 S TR R A e e aTE Y 3 s %qﬁmf—s el

TS T B e 87
Rs. 1170
A
1170 ¥7
Rs. 450
B

450 ¥U4



Rs. 540

o}
540 F7A
Rs. 500
D
500 FTY

Correct Ans : B

Q.No: 281
2421930 In what ratio must a grocer mix two varieties of tea worth Rs.60 a kg and Rs. 65 a kg so that by selling the mixture

at Rs. 68. 20 a kg he may gain 10%?

T T arel @ 60 39 g e 3R 65 T9 i el arelt g 1 & fRedT o fon T A e anfew, arfes s
FT 68.20 ¥94 9T Frell &7 ITHT a8 10% T A8 FalT Th?

3:2
A

3:2

3:4
B

3:4

3:5
C

3:5

4:5
D

4:5

Correct Ans : A

Q.No: 282
2421983 Anni and Banni at the same time with speed of 40 km/hr and 50 km/hr

respectively. If in covering the journey Anni takes 15 minutes longer than Banni,
the total distance of the journey is:

el T doelt U [ e & W &1 W ST 40 qur 50 faeider f afa & werar
SRS AT B Il U O A ¥ deelt § 15 Fee 1 TG SAQ AT 1 ITAX FA G4
et g

40 km

40 el

48 km

48 fft

50 km

50 fft

52 km

52 it

Correct Ans : C

Q.No: 283
2422010 Changu & Mangu can do a work in 20 & 30 days. Both together start the work. After some days Changu left the work. The rest work done by Mangu in 10 days. After how many days Changu left the work.

= 3R T et @ @ 20 7 30 R F AR a1 Wt Wy B O B §) $B Al a1 9 B BT G 21 S v w10 AT H G @ 81 sy < A R R @ 3w ser
4 days

afem

6 days

6 e

8 days

8w

2 days

2fA

Correct Ans : C

Qflo: 264 9% A §, et IRy a1 sifem v wur g1 srfq wum ug Mor g1 iR STRuE P gu gl



A LT TATE

B g W
[ TR T
D S HT T

Correct Ans : A

Q.No: 285 PR 34 eRe v d gwwidl
A *R:

B fire

c TR

b R

Correct Ans : D

Q.No: 286
HHH, $I, A, TP T4 HH I8 f6¥ TSR B U F & JareRu 82

A gaTa® H
B AEaTaD A
c oA e
D FagaTa® S

Correct Ans : C

Q.No: 287

g @EARAEY_ qowdEe S g
A T
B Ie
c =
D qEuaTIE qdH TEY 1

Correct Ans : A

Q.No: 288
Frafefad § § ~srgvs” @ wafaard v @ 82

A wegot
B et
c snfew
D T

Correct Ans : A

Q.No: 289
FrEfifed § § wea-gm “em-am & wet o 4 H1 99 HRE-

A TFe - &b

B wrerer - faremeff

c IR - S

D foremeff - srrwe safer

Correct Ans : A

Q.No: 290
Prefefad & & srge ad- oot eg &1 79 BIRG-

A Tiuifa
B ufrelT
c e
D ERicaed

Correct Ans : A

.No: 29
e lﬁmﬁa“mm"%wﬁ:%

A 3R gaE

B qasie™



c AR

D AR

Correct Ans : C

Q.No: 292

Frfefea & § gfed et 31 907 BC-
A L
B it
c i
D d

Correct Ans : D

QN5 e 21 s e e 1 R
A afe auf st gt ot wwe o art Ehh

B e e At # g

c &/ 3w @ g E

D wwa & % 95 $a F1aw W

Correct Ans : C

Q.No: 294 Rmfifad § @ vqer R <@ 51 e w32
A &

B =

c fe

D T

Correct Ans : C

Q.No: 295

FERiEd & § Gge a9 &1 99 Piv-
A aEF 3 T 5 g IS B
B a5 R o T & smam
c i 3 & B IR FA BT s
D 9 e urg 2R @

Correct Ans : B

QN0 296 cter: 9 ot 7t s v o & e T 2 (), (B,
(C) 3R (D) sPHiw faT 7T 31 STueh! T8 3G § o a1y & o I & Sarhwr, W, aefR, Sreal % Teid TRt a1 S @Re B I Fe ot T 1 af 3R Erft A o & el ue wm A & g 39 W 51 i @ ST SR &1 af At 3R § At B 3R A 1 9 k-
8 w1 Sft /(A) e = A (8)d 1/(C) B A T ()

A A

B B

c c

D o g T

Correct Ans : B

QN 297 o 218 g e o R
A I TETHY WIS @l

B TE SIS WS gl

c AT ST SmTEYdE P 1

D T = TA WA i 1 R F2

Correct Ans : C

.No: 298
QMo AT quT ey B Beet @t arwdl & o § FEkied §  eH-a1 R vge & 87

A SR g

B TS R



c R e

b wof famrr

Correct Ans : D

Q.No: 299 PR & @ i TR a7 9 e o e 32
A el FaT ST

B F= RresT @er

c et o g

o TN T TRR T

Correct Ans : D

Q.No: 300 P § § R dat @1 o “om @t wre TgaEr 82
A i 9T Yot e Fpf oot @Y 31

B TR PT S wiTS, o T BT R

c o g1 R g T o 851

5 AR e B o 9 E AT ekt

Correct Ans : A



